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1.

INSTRUCTIONS TO THE CANDIDATES-
(Read the Instructions carefully before Answering)

Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along with Question
Paper Booklet. Please read and follow the instructions on the OMR Sheet for marking the responses
and also the required data.

Candidates should write the Hall Ticket Number only in the space provided on this page and
the OMR Sheet. Do not write the Hall Ticket Number anywhere else.

Immediately on opening the Question Paper Booklet by tearing off the paper seal pleasc
check for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial number of the
questions (1—160), (iii) The number of pages, and (iv) Correct Printing. In case of any
defect, please report to the invigilator and ask for replacement with the same booklet code within
five minutes from the commencement of the test.

Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log
Tables are not permilted into the examination hall.

Darken the appropriate circles of 1, 2, 3 or 4 in the OMR. sheet corresponding to correct or the
most appropriate answer to the concerned question number in the sheet. Darkening of more than
one circle against any question automatically gets invalidated.

Rough work should be done only in the space provided for this purpose in the Question Paper Booklet.

Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall
lill the end of the Examination.

Ensure that the Invigilator puts his'her signature in the space provided on Question Paper Booklet
and the OMR Answer Sheel. Candidate should sign in the space provided on the OMR Answer
Sheet and filled-in application form.

The candidate should write the Question Paper Booklet number, OMR Answer Sheet number,
sign in the space provided in the Nominal Rolls and affix the left hand thumb impression in the
nominal rolls and filled-in application form.

Return the OMR Answer Sheet to the Invigilator before leaving the examination hall. Failure to

return the OMR is liable for criminal action. The Question Paper Booklet shall be taken away by
the candidate and should be preserved till the declaration of results.

Filled-in application form shall be submitted to the invigilator in the examination hall. In case of
SC/ST candidates who have not furnished the caste application number in online application form,
attested copy of Caste Certificate should also be enclosed along with filled-in application form.

This booklet consists of 61 Pages for 160 questions + 2 Pages of Rough

Work + 1 Title Page 1.e. Total 64 Pages.
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Time : 3 Hours & Marks : 160

Instructions :

(i) Each guestion carries one mark.
(28 (PF)H 28 Srdy) Sod.

(i1) Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2. 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer Sheet, separately supplied to
you.

BMHS aW)S (DB (DH adgadd TUS” HOTHD DIFrFEIH0D IH)5"Y T
5rDoW wos 1, 2, 3 BE 4 I adyd OMR Hireed HESuS® (H4)%
Dow0dod Dowghv P8ES ar/uel o8 drowod D) DTrAoD JodHT.

BOTANY

1. A cross between pure breeding plant with red dots on leaves and pure breeding white dotted
plant produces heterozygotes that have both red and white dots. On self pollination of F,

what fraction of plants show both red and white dots on the leaves ?

SEre Dd AHPToh Hyond) HYE I s Boopdody HoSywmd) Hd
3088 Dofdmo Tdm IEHYP OGN BwH) HPyow Todr &y DA
dudyerer ad3)8 Johagron. F, & 2300 Boddjo TRIHG dEero N
QEY Ho0dl» BwP Hdjyoo Todr &) I o edo (fraction) Jod?
(1) 3/4 ) 12 (3) 1/4 (4) 2/3

2. How many phenotypic classes are produced for a-pair of characters in a monohybrid test
cross 7 |
28 2d oo EOAHN0ES JE DoEdods® by Vo¥dmo Do D) SYyIgard
gsren S0w?

(1) 3 (2) 2 (3) 4 4) 1

[

Rough Work
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3. Study the following lists

List-I List-I1
(A) Operon () Binding of repressor proteins
(B) Operator (II) Binding of RNA polymerase
(C) Promoter (III) Inactivated by inducer
(D) Repressor (IV) Binding to polynucleotide phosphorylase

(V) Polycistronic structural gene regulation
& (B0 rderod wggahdo Babod

aDo~-1 aDor-11
(A) 220" M 3B»>b |P*8S 20dsHHb
(B) ¢53866 (Il RNA 295TE w0d8HHo
(C) H3reb (l) (28%0T dbgdgo Sobuddod
(D) 826 (IV) >05rg8cirsé &&gﬁﬁéﬁa 200SHG

(V) 02998 Jompm 2dgsy) dodo(dn

The correct match is
ad 200D =fdoy

A) B © @D
() v) @ (I  (m
(2) av) dip @ (I1)
Gy am v avy
@ @ av) am (v

4. Escherichia coli, in which both the strands of DNA are labelled with '°N is transferred to
%N medium and allowed to replicate for three generations. Find out the number of hybrid
DNA molecules in the third generation.

DNA Bod dSen "N & Swd Fohdd J%)62alr 5535 N do asrsgos®s
570 Hrdo doro HEH HYHBSEHEDETE. SrdS S806* Ho¥d DNA vwmodHo
::roqag:&a ¥ ol a0,

(1) 10 2) 8 (3) 2 4) 12

Rough Work
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5. A DNA segment has AGA GCA ATA CCA ACA ACC nucleotides in a sequence. The

segment of polypeptide chain synthesized from this DNA through mRNA has the following
aminoacid sequence
2% DNA 2088065° AGAGCA ATA CCA ACA ACC o3 $rgdtirBbw S|S0

Gamyon. & DNA %008 mRNA orgor BodRodwdd é-ﬂn:rn::éa fPeobd®D
oS wiro SHJHED0 & Fom GTyow

(1) Tyr — Cys — Trp — Ser — Gly — Arg
(2), Arg — Tyr — Ser - Cys — Trp — Gly
(3) *Ser — Arg - Tyr — Gly — Cys — Trp
(4)» Cys — Trp — Ser — Gly — Arg — Arg

6. Study the following lists

List-1 List-II
(A) Cellulase (I) Cell wall of bacteria
"(B) Chitinase (I1) Cell wall of plant cells
(C) Lysozyme (IIT) Proteins
(D) Protease (IV) Cell wall of fungal cells
(V) RNA
& (Sod 2rderod wdgdhdo Wdbod
er-1 =Deor-11
(A) egDE () w=r§dcire ¥ngdso
(B) B83E (II) 3nE) Soro EniddSo
(C) B8¥FzED () 2SS
(D) @*ScHE (IV) 30o($ oo Em¥dSo
(V) RNA

The correct match is
ad JoTHI =fdop

(A) (B) (€) (D)
(H vy avy @ 0y
(2, ) av) @ {m
3 a @ avy (dm
@ N @O ddn da

Rough Work
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7. ‘Tobacco plants resistant to Meloidegyne incognitia were developed using a method of

cellular defence which relates to
{I%Aciivalinn of specific mRNA .

(2) Silencing the translation of specific mRNA
(3) Silencing the transcription of specific mRNA

(4), Activation of specific IRNA

St ond AV asstHyRdirs NGB ES LOAS e InEpod S8 Bl er8
GHTrAoDS EndEin BB A Jowosowod

(h 233
(2) A3
(3) 2232
(4) J3Q

mBRNAS: :ﬁﬁ&: HE S

tRNASS &:ﬁa‘&vd Sad

mRNA Tn%) @I EI050 2Byoh (Silencing) 9 oS0
mRNA T®»E) 05HTpI50I 8y0h (Silencing) B oind

8. Study the following lists
List-1
(A) Vector
(B) Downstream processing
(C) Cry I1 Ab
(D) Transposons

& 80 rderod wHgohno Sohod
o1

(A) a*orS0

(B) eddarde 8%

(C) CryllAb

(D) |&rRyTFr

The correct match is
ad HOTHS ='doY)

A) (B (©) (@O
1 avy v O
2 avy (v (an (m
(3) (Im vy «avy an
@ avy ap @O ™

List-11
(I) Resistant to cotton bollworm

(1) Mobile genetic elements

(I11) Controls corn borer
(IV) Ti plasmid
(V) Purifying protein in biopharmaceuticals

dor-1l
() %8 ordarb)H (HBIG°FES
(1) Sod z2dgddDodw
() H8s°ch &OT YPoith Achodem
(IV) Ti arydo
(V) 2% Thgrod® FES HEDEH

Rough Work
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9. Identify the correct pair of characters of a bacterium which is useful in production of
methane

(I) Recyclers of inorganic nutrients
(II) Present in stomach of cattle i
(III) Obtain energy from sunlight
(IV) Aerobes

DNPS a8)8 Ve dd ¢HTrAoT r§00HS Ty HOTHS oforo wds:
o8 odod

() ehopdh Fase YIS Easire

1) ShHo 25540 dotrmon

() 56353 %008 48D doeron

(IV) > asnds dHe

(1) (I, 1v) (2) (1, 1)

3) (1 I @) {,1v)

10. Which one of the following variety is resistant to white rust disease
(1) Pusa Swarnim (2) Pusa Sem 2
(3) 'Pusa Komal (4) Pusa Sawani

898 HoHNS Bhown T7gHS (HBISFES Srh o

(1) Y= D880 (2) > oo 2
(3) Sy §'%S (4) Yrar Do
Rough Work
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11. Which of the two statements together supports that respiratory pathway is an *amphibolic
pathway’ ?
(I) Fats breakdown to glycerol and fatty acids, subsequently yields acetyl co-enzyme A’

(I) In respiration, C-C bonds of complex compounds breakdown through oxidation leading
to release of energy.

(I} Acetyl coenzyme A’ from the respiratory pathway is withdrawn for the synthesis of
fatty acids.

(IV) Proteins are degraded by protease to amino acids and enter the respiratory pathway.

& (808 @ Body argpged Erd TIO B w¥ “@zfoss #5808 DFo” wda)

D?ﬂf{:nﬂ

() §Hgo, AD0S HBB» FHg wdreom VD)0 Wob S850880 v S
§-I38D» ‘A bﬁgﬁﬂ"u&:

(I agd8d%s” Hofd ﬁﬂ‘g‘t}ﬂ‘ C-C nogren ©iyEdwmo oo DY) B
332 ddoSo WBInow

() 28BS §*AISES> ‘A’ o0 #gd8csr Do SHow wobdd Py uviro
b0RawR8 Srsdderow

(V) @SS, (FETHE orgor oS sdroom IDYH) Fo, TIOEET 5&o0s*8
(5333 0.

(I]_ (11, 110) (2) (I, II) (3) (I, 1V) (4) (I, IV)

12. Identify the correct pair of combinations
(1) Zeatin — Adenine derivative — Overcoming apical dominance
(I) C,H, — Indole compound — Effective in fruit ripening
(III) ABA — Carotenoid derivative — Induction of parthenocarpy
(IV) GA, — Terpene — Bolting in cabbage
HOTHD HoEDoH Ho =8l HfoSos.
() 205-80 — Y PO IS G& NS S0 — BT ELSED JFHdaron
() C,H, — 206'S Wrdssn — Horo HODIZEH &80
(II) ABA — B&'8arowsd ad i dn — wdaf Hod (Wi
(IV)GA, — 6835 — soB2S" 5°Q0h
(), (1, 1V) (2) (11, 1I) (3) (IL, 1IV) (4) (I IV)

H

Rough Work
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13. Study the following lists

List-I List-11
(A) Munch (I)  Stomatal movement
(B) Darwin (I) Hastened fruit ripening by volatiles
(C) Cousins (Illy Growth of coleoptiles towards light
(D) Levitt (IV) Nature of enzyme action

(V) Bidirectional transport in phloem
6 800 wrderod wigahdo Wabod

doe-1 Doe-11
(A) Swow (& Sozro JSodo
(B) @08 (I  2ra)B8o dorgrody dore HESINENSG0
(C) s=20) (Ill) |FroHY ZohE¥dw srod HAm wdddo
(D) Ba& (IV) d9zZ Sorg dgardo

(V) 0% $mzrood” 004 Sarar
The correct match is

ad DOTHS Fdoy)

A @B © @O
(@ av) v
(2) A vy (O ap
G avy v @O dp
@ (v) am an M

14. What 1s the type of nutrition in purple and green sulphur bacteria ?
(1) Chemoheterotrophic (2) Photoautotrophic
{3’3 Chemoautotropic @}) Photoheterotrophic
DS Ho0Ain wHDBI) Doy e300 Fan S¥o J07?

(1) 8c5Hd HEDUSo (2) 508 bgoho Fundo
(3) 8Jrcdd” Hgodo Fado (4) 5708 DHETFudo
Rough Work _
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15. Study the following lists
List-1 List-11
(A) Viroid infecting tomato plant (I) 6,500 nucleotides
(B) TMV (1) 300-400 nucleotides
(C) Polio virus (1II) Two identical molecules of RNA
(D) Lentivirus (IV) Many sided
(V) Prion
& (80 hE o g0 Sohod
=hoe-1 =Dor-11
(A) & 5rE" Bog) & Ho(gow Sorawd () 6500 Jrg8TIr Bl
(B) TMV (I1) 300-400 Jorg8odrBadocn
(C) 0T/ 38 (1) Sodo FErdHgs o RNA emop)e
(D) To8 I8 (IV) 25odwwo |
(V) (205D
The correct match is
ad HOTRIS £'doY
A~ B) (© (D
(1) (1) (V) (b
) ap (I av) ()
(3) (I (1  avy an
@ m avy vy O
16. A taxon belonging to order sapindales has a single seeded fleshy fruit with edible mesocarp
and stony endocarp. The number of carpels in the flower of this taxon is
odie Hood® Bo¥wrod sodidoidara) S0 83 Hodg So¥ddos® oS
QST 59A d0d ¥ &5y F2odOD (¥5rN8 Bod Gokood. & &Sy
By, Dh oSt Hodvro Dowg & DSom dodnod
(1) 2 P (3) 5 ‘4) 1
17. Identify the correct pair of combination
(1) Aspergillus — Meiosis occurs in asci — Produces citric acid
(I) Albugo — Coenocytic hyphae — Parasite on mustard
(1I1) Penicillium — Basidiospores — Multicellular
(IV) Colletotrichum — Conidia — Smut disease
50 TS Fo¥oPe 28D MboSod
() wdy8es — vy Rod® Fahidm P 2868208 — DGEE oo
LR
(1I) Hﬂijﬁa — DFDEE SobHPoo — € ¥y D Hord)E
(1) 2DIBOHho — BLATWrI* oo — aioémalndo
(IV) £BE' BgpSs — FAdHH0 — S8 Bhw
(1) (D, dDh (2), (1), (1) (3) (m, av) 4 0, av)
Rough Work
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18. Study the following lists
List-I
(A) Genetic nature of RNA
(B) Binomial Nomenclature
(C) Triplet Codon
(D) Ecology

/B\

List-11
(D George Gamow
(II) Hugo de Vries
(III) Frankel Conrat
(I'V) Warming
(V) Gaspard Bauhin

& (808 zrderod wgdhdo Tohod

ardar-1
(A) @8.23.2. zdogdeeo
(B) &gardy Frab¥dmo
(C) |88 Bosdo
(D) 8580 3390

The correct match is
ad BOTHS doY

(A) (B) ((©) (D)
(O, (1 vy @O (IV)
('Z)j (Iv)y (I (V)
3), i) vy avy o
4 avy vy @O {an

=Do-1l
0 2§ r3rS
D) ght & (OB
(Il |@ro8d §'Jc&
(IV) 5830k
(V) 3530 2o

19. Identify the correct pair of combination

(I) Chara — Monoecious — Chlorophyll a, b
(I1) Salvinia — Homosporous — Free floating hydrophyte
(1) Ectocarpus — Filamentous form — Chlorophyll a, d

(IV) Laminaria — Biflagellate gametes — Haplo-diplontic life cycle
DOTHS DoTRoPo =48 HdoWod.

(I) sro° — &gforrfow — HET0&0 a, b
() Oedasr — mmhgbagga — 8D 'i:giﬁgn" 8T 3w
(111 Jg‘s‘ﬁgﬁ — doddrdo — HESr0&0 a, d

(IV) o308 — BeEargPaing Soadry Deren — Dﬁ-dgcﬁaﬁgaﬁ 22 P|go
(1) (), (IV) (2) (1), (1)

Rough Work
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(4) (1), (ILI)



o A

20. Identify the correct combination

() Pistia — Discoid stem — Lateral branch with many internodes

(2) Neem — Absence of buds in the axil of leaflets — Pinnately compound leaf

(3) Sunflower — Opposite phyllotaxy — Inferior ovary

4) Canm—Flnwr:.rsmm@umwhcightdmmvﬂﬁadlmgﬂmufpedjce]s—kmlmﬂfhtm

DTS HoFDoPd Hgoded.

(1) dposr — J5°F stodo — 03E S HPgdrodn SOAS TR

(2) 35 — Hgso Lﬁa‘ﬂcﬁ‘ SBofen S*Doddo — Eﬂ"‘}s"ﬁ Doding DH|Bo

(3) :-‘:mﬁgs*oeio — oDdop JBITgI0 — Q) woarHado

@) 588 — Dajdoeres IV PEHS® ao0d Hryod) &8 IHS® Godbo —
maﬁ@@aﬁm

21. Three plants (A, B, C) are observed. ‘A’ has suckers. The edible parts in it are the inflorescence
axis and juicy succulent bracts. ‘B’ belongs to family Moraceae. The edible part is succulent
perianth. In ‘C’ polyadelphous androecium is present and the edible part is juicy succulent
placental hairs of endocarp. Identify the types of fruits in A, B and C respectively.

(1) Aggregate fruit, berry, pepo

(2) Sorosis, compound fruit, hesperidium

(3) Compound fruit, syconus, berry

(4) False fruit, aggregate of berries, hesperidium

Sards Bofyeso (A, B, O $068003d0 =0A0b. ‘A’ Dof InHol €04

s0&008. HAS* Hay) dargdo vFo HBain FHMNE, SVFOE ERMATS

83 oo Gotrom. ‘B’ BrTv Hewowdd Toddod. 828 83 wrdo

508 HOHEren. ‘CS" i wodd THovS9 aobwod. 8% o wod:

HoESsS0s’D) EHas0S, §5F08 wodargd Fres. A, B $0a0 C Ingodtd

Hore Ssrod 38%m fdodod.

(1) %08d8Hvo, Hydvo, I

(2) DS, HoT@WrAHoo, W 0dD

(3) boTBrAHoo, NEID, Hyddoo

@) uB)8H00, Hydorods ErdS VodIHoo, WHHBEMD
e
Rough Work
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22. ldentify the plant which is not having unilocular ovary

(1) Chilli (2) Cucumber (%J Cashew (4) China rose
EDO woTHST) ¥OA Godd InEpSy HdoTod.
(1) odd (2) H%onb (3) 285708 (4) Hooord

23. ldentify the wrong statement
(1) Conidia are formed in Alternaria.
(2) Plants produced vegetatively or asexually are called clones.
(3) Organisms exhibiting external fertilization release a large number of gametes.
(4) Development of embryo from fertilized female gamete is called parthenogenesis.
P05 argwgde Mbovod
(1) ©9T 005rs" EA8AHSoew 8 ydarown
(2) ©BoAs HFB do &chHddom DEYB BEHod 0w wolrdd
3) orgdHodidn Srod EHw Domriderods NESPRY Eumgd" Do BIon

(4) $0b888m Tobd B9 0T Dzo 50D Dodo A8YELD) wdwIxddo
(LTeTApte ™

24. The character associated with the plant in which pollination is by Tageticula
(1) Perigynous flowers (2) Marginal placentation
(3) Pentamerous flowers (41 Trilocular ovary

rEofeor do doiDond)o 20T JEH Jowododd wEwmo

(1) DEgods¥ Haryw (2) Gdrod wodargdo
(3) Dod PrAddnd Py (4) |8Dodind woarddio
Ruugth:k
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25. In plant ‘A’ the seeds will not germinate until they have l;:een exposed to low temperatures
in moist conditions in the presence of oxygen. ‘B’ plant flower has basal placentation and
head inflorescence. In ‘C* plant, flower has cup shaped thalamus and the reproductive
organs in it are enclosed by two petals present on the anterior side of the flower. Identify
the following characters found in A, B and C respectively
(I) Slightly curved embryo sac
(II) Micropyle, chalaza and funiculus are on the same vertical line
(I11) 180° curvature of the body of the ovule.

A D€ gTres viy=S H%¥0s® B0 :&.a':geswes* €75 e HS0H
2P SHoTIg % ©000ITY. ‘B’ ISy Da oS DE wodIgIV) HodA»
3858 PAYPT I ) §90 sotol. ‘C BoEy DRYeS' ATB08 YA JYAT G0
Go®00d Hobasn PS8 Hogodod® &od Tod usdm S (DSgs )38
womrody £ Godeton. A, B $3805%w CS* £2%od & (800 ofwrod
HEBm HBodod

() oo Fom Hod 80A gotwod

() wodorgdo, Wore, wodHyodo 23 JWR) B ©dd dowrow

(111) 180° §°w0&S® HoP BOAD wodBI0

(1) (D), (1), (i) 2) (D, dm, » G @, (I, an @ @, M, dn

26. In a flower of a plant, the number of carpels is equal to the number of inner whorl of
perianth lobes and cotyledons in the seed of that plant is 1/3 of carpel number. What is the
arrangement of ovules on placenta of the flower of that plant ?
(1) Parietal {2). Axile (3) Marginal - (4) Basal
€ Bog) Vo), Hayos® dodvro dowg SPHO $0cHodt DOHE B0
Hopg¥ DB;rD0 500050 JEH0S® Hadvre, Podvro dopgd® 1/3 aamyon. ©
30g) Pajos" vorw wﬂda‘g‘bgﬂﬁud‘ D ©508S" Godron?
(1) %sg (2) oo (3) adodo 4) ©8

Rough Work S S e e
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27. ldentify the series in ascending order with respect to the number of cohorts present in them.
(1) Heteromerae, bicarpellatae, inferae, calyciflorae
(2) Inferae, calyciflorae, bicarpellatae, thalamiflorae
(3 Heteromerae, disciflorae, calyciflorae, thalamiflorae
(4) Calyciflorae, thalamiflorae, bicarpellatae, inferae
0B JDIwrSto Dogrgdom & (Fmod &S |EH00S® H20080d
(1) 88°0T, Fs*0)TY, an T, sOVY*T
(2) a” T, 5*O2VP*T, B THTY, ST
(3) we36°w 3, &E:a,@_“fi. s'ﬂ?a@"ﬁ, émﬂa@*ﬁ
(4) 5OV Y'T, BT, Bs* BT, ad DT
28. Study the following lists
List-1 List-I1
(A) Golgi apparatus (I) Circular DNA molecule
(B) Mitochondrion (II) Synthesis of carbohydrates
(C) Chromatophores (IIT) Modification of proteins
(D) Cytoskeleton (IV) Pigments
(V) Proteinaceous structures
& 800 FhErod vwigohdo Bakod
adac-1 . dor-11
(A) n'g 20880 (I) Syeestd DNA ey
(B) S&°seo@a%os () s8°)r(@ JoFdhw
(C) §*8r&*Pben (Il (@3 Srroddo
(D) e uﬁgﬁoaﬁm (IV) S8 |Bargen
(V) (8508 Jomyeen
The correct match is
ad HOTHS =30y
A) (B) (€ (D)
() daimy vy av) (@
(2) an avy ) @)
Gy am @O  avy ()
4) (V) «danp «av) (i
Rough Work
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29. Identify the correct pair of statements

(I) The alternate name of thymine Is 5-methyl uracil.

(1) Arachidonic acid molecule contains less number of carbons than palmitic acid.
(111) Cellulose contains complex helices.

(IV) Aquaporin is a polypeptide.

D00 TEPYO 2dd5 Hdodod

(1) BN HEEDH 5-03S gsnornd

() ©odEIE v vl a5 vxNo Lol S d EEyTodD EON sotod
(1) oeogs™® Hofa HOyoroR $OA Gotwod

(IV) 5700 28 FOHRE

30.

#—

(1) (@ 1V) ) (L, m) (3) (1,10 (@) (L 1V)
Study the following lists
List-1 List-11
(A) Anaphase-I (I) Splitting of the centromere
(B) Anaphase-II (I) Recombinase
(C) Pachytene (I11) Sister chromatids associated at their centromere
(D) Diakinesis (IV) Chromosomes aligned on the equatorial plate

(V) Nucleolus disappears
& S0b rdEron tﬂf_ﬁgo‘:ﬁafm Soob

Dor-1 adoe-11
(A) Sos8%-1 () “0oE* Wb JFzdo Fodso
(B) Seods4-1 (II) 0s*0DID
(C) &HBS (1) oE*Wwonbo 5 JFEY S*Srsboo 50D Gotron

(D) BoSrERBS  (IV) E'Srstswes Hdgp D6OE 5§ @b Goron
(V) Bo|8stoddn wodgridhdod
The correct match is
20 HOTHS £ doW
a4 @B © O
(H O @ avy daj
@ anp @ a )
3 amp (V) a av
@ a an ) av)

Rough Work
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31. How many chromosomes are present in each of the following with respect to maize plant
respectively ?

(a) leaf epidermal cell (b) antipodal cell
(¢) endosperm cell (d) generative cell
(e) egg cell (f) megaspore

(g) Microspore mother cell
Boo¥) £°H) ¥ H Dowohod), SEHDSE, & BHIIDYD FVS* V) (BBt Sooen

0o ?

(a) D Erdrgdd) Swdn (b) (L8>E Fedn

(c) uuﬁaﬁxﬁgﬁ e dn (d) e85 Sodw

©) B9 Dz Sodw H pro vY Dadw

(@) g DG Dz HrE)¥ Swo

(1) 30, 10, 20, 10, 20, 10, 10 (2), 10, 20, 10, 10, 10, 20, 30
(3) 20, 10, 30, 10, 10, 10, 20 (4) 20, 10, 10, 10, 20, 30, 10

32. Which of the characters are found in cells producing primary tissues ?
(I) Rich in protoplasm, conspicuous nucleus.
(I) Thick cell wall, few plasmodesmatal connections.
(III) Thin cell wall, many plasmodesmatal connections.
(IV) Lignin in cell wall, inconspicuous nucleus.
TEDE Enwrorod 6838 T Eorod® ) oforw EdDIon?
() 2300 o, WHHH Bod ECTGED
(II) $08Fd5 Ensddo, d5H)D SnEdgn0d woJIw
(II) 0SS €ngdSo, EnBSgpod woFared w0

(IV) OA1S &° 35 En¥dSo, wd )R s Sod¥o.

1) (m vy @) @1 3) (1, IV) @) (I 1)

Rough Work
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Identify the correct pair of statements from the following

(I) Primary phloem is commercially important in flax.

(I) The food materials in water conducting tissue are stored in thin walled cells.

(I11) The water movement in vessels is bidirectional.

(IV) Mature cells where hydrostatic pressure increases during sugar transport show the
presence of peripheral cytoplasm and absence of nucleus.

& |B0b TES* HOTHS Tgwge 2D #:80%0d

(I) &5y (SN FaE Swzroo sdugbdom adrAo

(1) HB8D HEHo TJosn Emerood’, EmdHorgwy DdDodm al) Soo T¥eLts]
bdorgrody Jug W ow

() 88 Sodo ordHharvod” B3dFTNIS0

(IV) 5658g Sorod® 28,38 I8 o 200MH&d)dpdo zoDdd )08
28f$08%, 8S* H0bdH Enddgo @od, So(880 Godd.

The correct pair is

ad DoohS =2

(1) (II, IV) (2) (11, III) (3‘) (1, II) (4) (11, IV)
34, Study the following lists
List-1 List-11
(A) Cultural services (I) Nutrient cycle
(B) Provisioning services (I1) Afforestation
(C) Supporting services (I11) Flood protection by mangroves
(D) Regulating services (IV) Petrocrops
(V) Recreation
& 800 rderod eggaeso Bo%od
o1 =aDoe-11
(A) H0%) )8 dowod D N 2z odcro Soddrw
(B) ddhdho Srd Dden (II) o&d S8¥o
(€) word Spsg¥ ded (Il) Hrorbe orgor $880 oD SEm SONoSE0
(D) ﬂCﬁJaLétﬁ"éaé RHew (IV) D& SogH w
(V) soddd)
The correct match is
ad HOTHS oW
(A) B) (© (D
(H (V) am @  av)
(2) avy an @n (@
3) (V) av)y (O ()
4y ap @M (I (V)
e
Rough Work
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35. Identify the correct pair of combinations
(I) Vallisneria — Long stalked female flowers — Hydrophily
(I} Tribulus — Annual — Root succulent
(IlT) Hydrilla — Submerged rooted hydrophytes — Aerenchyma
(IV) Casurina — Perennial — Phylloclades
P0OHS F¥doP 288 MBoSod
() 20330a8r — >E3S Syoerwdo by Py — zodo 20D 0
(I Gevgod — dEa7880 — S0 E Db :;‘%,;,
() Zr@gr — 98S° 500 608 0AYESno BodS sy — o csn HPod
228 fmaroo
(IV) s*2» B> — pIToar88o — DEFstoaw
(1) @, 1 (2) . (111, V) (3) (I, 1) @) (1, 1v)
36. Find out the correct pair of statements
(I) Incompletely plasmolysed cell, pressure potential does not contribute to water potential.
(II) If a cell is placed in hypotonic solution for longer time, the cell membrane shrinks
away from its cell wall.
(IlT) Apoplastic system comprises of interconnected protoplasts.
(IV) Polypeptides have more imbibing capacity than polysaccharides.
20 0hd Tgwge 285 Mbovod
() o Sw@dy Bof'So Todd Swrod® 845 dewss® basi o
D> &GS
() 28 Sy woyTd (G dmodt &g?uo 4008 Eodd Lm¥sdo S08
£0w0035:5™) %08
() Fes*>Fe vodgro BgOY oI a’}ga’:‘%cﬁ‘ Gotood
(IV) >d7»3&0 €0 a-!naf._g_ﬁu A48 %S
(1) (1L, IV) (2) - (I, IV) (3) (I, 1D {41 (I, IV)
Rough Work N T N T
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- /B\

Identify the physiological functions of two microelements, of them, the former is required
for the synthesis and the latter for oxidation of IAA respectively.

(1) Constituent of chlorophyll molecule

(I) Maintenance of cell turgidity

(IIT) Splitting of water in photosynthesis

(IV) Co-factor for carboxypeptidase

(V) Component of methionine

SEDM JusE8 IAA DoFh ok, Tos'd IAA ¢8EEndHh odD85Thy Bods
gy Faso 1068 8 dod Hfodod

() {08 vmPHS” 28 o

(II) Sero Dysodo Dgoxnodsdo (Maintenance)

(I 8&madg DoWrH(8cshes® J ABHED

(1IV) s‘mgﬁa:‘ﬂ‘ég'&‘ﬁﬁ DarstdEo '

(V) 08TWrde vlpbio

The correct answer is

20 VOIS JAIrgrIo

(1) AV, 1T (2) (I, V) (3) av, 1 (4) (V, 1)

38.

Identify the correct pair of answers indicating the reactions catalysed by “Isomerases” class
of enzymes.

(I) Conversion of glyceraldehyde-3-phosphate to dihydroxy acetone phosphate in Calvin
cycle.

(II) Formation of malic acid from fumaric acid in Tricarboxylic acid cycle.

(11T) Carboxylation of phosphoenol pyruvate in Hatch-Slack pathway.

(IV) Fructose-6-phosphate formation from Glucose-6-phosphate in EMP pathway.
“2d5TE T Y ISBIoww ¢8)9000T D SPge 245 Do dIrorady
28030,

(I) s°9g5 Hoohod® Q‘émgf_mﬁ-ll-é"’a;}ﬁ B @8y JDES @"f-:;]ﬁ_n' Srddo
(I) B9570m)8)05 Sochos® HHgHods w0 008 5705 edo A8dwO
() °5-PF 20" PF S DHIE s5207)8)TAS a8Kdo

(IV) EMP $&os* :jrﬁ‘é'—ﬁws)"'faaﬁ' %508 L%g’ﬁﬁ-s}'i:;}eﬂ' DI ydbo

The correct pair 1s

ad JOTDD =8

(1) (11, 1) (2) (1, 1v) 3) @, 1V) @) (1, 1)

Rough Work
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39. The number of ATP molecules formed from 8 molecules of Hzﬂ due to noncyclic electron

transport and subsequent photophosphorylation is

[Assume that quinone cycle facilitates the transfer 4H" to the lumen of thylakoid membrane
for every two electrons passing through electron transport system and one ATP is formed
for every 3H" moving down the proton gradient by the mediation of F, — F, ATPasc|

8 woHo H,0 %08 eIfoH Jogryd Sarer, 885088 708 @*ﬂ‘gﬁﬁﬁfm
2Odom bﬁ;ﬁ ATP voopo :fm:pg

(D093 e o°go° HOHA0W (98 Bod JugryseH 335 Hodho 4H' ol
Bosrond 33 orgDSSts 280 THodd Hddn (DS (DInE M
a4m Fy—F, ATP Gh# orgos (dairedod (28 3H' ofH 28 ATP 283885083
rRodod)

(1) 12 (2) 8 (32 4 (4) 16

40. The correct sequence of the involvement of the following components in non-cyclic electron
transport
o3 foh Jos9S Fawrd® FST & 1800 vdoHoso HOTHS (FHod
() PC (I PQ
(1I1) Pheo (IV) Fd
The correct sequence is

RO0THS BHEJEH0

(1) (I, I0, I, 1V) (2) (1, I, III, 1V)
(3) (I, 11, IV, 1) (4) Vv, I, II, 1)
Rough Work
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ZOOLOGY
41. The cells lining the base of the intestinal glands that secrete lysozyme are
(1) Paneth cells (2) Brunner’s glands
(3) Parietal cells (f;] Neck cells
vo|d (fodre wordod® ¢od BIETTod (HVoW> wrew D2
(1) HAE Eerren (2) 123)6 (Hogoe
(3) SdgEearwn (4) H& Zeoreon

42. Match the following with reference to geological time-scale

List-I List-II
(A) Origin of trilobites (I) Silurian
(B) Origin of ostracoderms (IT) Carboniferous
(C) Origin of fishes (IIT) Cambrian
(D) Origin of amphibians (IV) Ordovician
(E) Origin of cotylosaurs (V) Devonian
FHs5modrd (D570dn 6 (508 I 2SDLH®

SSE-1 SSE-11
(A) B95°Bo SE AT (I) ordcHs
(B) ©295°45,0 sdo"yHo (II) s°8°)0DES
(C) Sdo wdoySo (1) SoDcHS
(D) axch Sovo vIom)do (IV) 8" 20%S
(E) s*8*>6o ©DT)Ho (V) 85°0%%

The correct match is

ad HOTHS 30D

(1) A-lI, B-IV, C-I, D-V, E-II
(2) A-lll, B-V, C-I, D-1V, E-II
(3‘,: A-l1, B-V, C-1, D-1V, E-III
(4) A-II, B-1V, C-II, D-V, E-l

Rough Work
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43. Identify the correct passage of spermatozoa in male human reproductive system

(A) Vas deferens
(E) Ejaculatory duct

(B) Epididymis (C) Urethra
(F) Seminiferous tubules

(D) Vasa efferentia

DD PSod (Pdogs 8 DIV JowoBodd Do DOTHS |HaSrn BNl )

ﬁaﬂuﬁ:&’:&:
(A) HEavorE

(E) Jp0d8 r¢fd»
{1; FB>A->S5D->SE->SC
B->D->F->C-o>A->5E

(2

(B) Q@83 (C) 1D 0ES»
(F) %.:LE"EPQESE D Een

3) B E->C—->F->A-D
4) F>D->B-o>A->E-C

(D) HIE>08e

44.

Choose the correct combinations

List-I
Class
(A) Turbellaria

(B) Trematoda

(C) Cestoda
(D) Phasmidia

List-11

Character

Mostly free living flat worms with mucus
forming rhabdites in body wall
Commonly called flukes which bear two
suckers

Ecto and endoparasites Body unsegmented
Amphids performing chemo receptor
function

& 800 DBwonS ‘J:Ebl#a'ﬂa’n %0 0 oS5

SSE-]
Jereiio
(A) &8 Toos
(B) B3& ar

(C) »&a

(D) &%)8 05

(1) (A), (B) and (D)

(3) (A) and (B)

SQE-11

ofoo

DT yEPHw, B odgost Farydy
DEYOT oo oI QT OO0
28 Fgrdmom {5y wolrd.

D38 Bodks Srasenotron

Q2 wrdrg $8Bw wodS Hovdy) EHew,
B508® podydssn d&

$0DE I 0¥ (rIrsteomr HITIow

(2} (B) and (C)
(4) (A), (C) and (D)

List-111
Example
Convoluta

Bilharzia

Echinococcus
Trichuris

M
Rough Work

AM 2015 B
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45. Which one of the following is the correct statement with reference to Ascaris

lumbricoides ?

(1) Digenetic, dimorphic, coelonate and histozoic parasite

(2) Monogenetic, dimorphic, pseudocoelomate and coelozoic parasite

(3) Monogenetic, dimorphic, coelomate and histozoic parasite

(4) Digenetic, dimorphic, pseudocoelomate and histozoic parasite

(08 &AS" 800 ©o(DSToNdNE DoooDNS VOTHIS oA BwRD»
(1) HeesdFom, BErDE, Vzddd HTE HHOd» Emero DN ED

(2) I5°8Tow, BIE;DE, WErgfbs HTE, {nHird Dol ED
(3) 25°8Bow, HE,rDE, V=IbE HTE Hdwn Enmzro D075y 2D
(4) O3w8Tow, HIYrdE, WDGgH08 HBY, Emare Do ED

46.

Match the following with reference to endocrine disorders

List-1
(A) Addison’s disease
(B) Cushing’s disease
(C) Cretinism
(D) Myxedema
(E) Acromegaly

List-1I
(I) Hypothyroidism in adult
(II) Hypersecretion of somatotropin in adult
(II) Hyposecretion of glucocorticoids
(IV) Hypothyroidism during pregnancy
(V) Over production of glucocorticoids

SrHd é‘&‘asﬁaﬂ ¥HPHoH Howodhod & 308 TV 2SBLNSB®

égﬁ-l
(A) ©&3J) g8
(B) $Ro0fy vo@'so
(C) (38w=o0
(D) ;héaﬁh:r- ;
(E) o5*omrd
The correct match is
ad DTS =fdoH)
(1) A-III, B-1V, C-V, D-I, E-Il
(g) A-lll, B-V, C-1V, D-I, E-II
(3) A-V, B-1V, C-III, D-II, E-I
(4) A-II, B-III, C-IV, D-I, E-V

Rough Work

AM 2015 B

SQE-TI

() @Préods® rdFFoondad

() Zrdos® PErs® |G*DS 053,83

(Il #r8°s"dstong ws'yEya

(IV) #8)0 od)d 29S* DoV I Poronda
(V) 4r8°sr8sronbo upE*ENa

22 S
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Choose the wrong statement with reference to smooth muscles

(1) They exhibit prolonged contractions

{2)}\ Myofibrils show alternate dark and light bands

(3) They are spindle shaped uninucleate cells

(4), Their contractions are under the control of autonomous nervous system

oY ¥odorodH HowoBODS VS Tgpgds BooRHSw

(D ®d &gsro Joforod IrPHeron

(2) g $0dd dodoHow JstodSom Jrp 08 H0ckn 5708 ol (HEIFrow
(3) ¥ $03 wsdod® 60d ¥ To|0¥ ¥

(4) I8 Hos'WHw» Dgos0Tad a‘&égéfg ud b0 dodwod

48.

Identify the set of secondary lymphoid organs from the following
(1) Spleen and lymph nodes (2) Bone marrow and lymph nodes

{3}' Spleen and Bone marrow (4) Bone marrow and Thymus gland
808 &JS° 833a% Doond edchare z=dS #80Sdw.

(D) RT 50 B0dH FRIED LmP (2) o Hozg 0B Fasd oo

(3) DoBdn Sodosw 0% Hoz 4) oY Doz HH0B» BHD Hod

49.

Identify the wrong statement with reference to the functions of lymphatic system

(), It has no role in destroying the invading microorganisms

(%i Transports digested fats to the blood vascular system

(3) Lymph returns the absorbed nutrients to the blood

(4) It transports lymphocytes from lymph glands to the blood

Fh8s SIT VG0 JoodoRd DOSW Fgwgd #80W5w

() '8 T60d 0¥ 12Ho FEEHS' IwSol ;SIS L0A dodd
(2) 28 s §PHg ﬁmgﬁum 88 (D08m SHVE DI T oS

(3) FRgHSn FRodS JFasod 86A 5505°D8 ﬁﬁa‘)m

(4) FR8D (Hodo %08 FUED Frod CLos*E SoerT b

Rough Work
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47. Choose the wrong statement with reference to smooth muscles

(1) They exhibit prolonged contractions

{Z)F\ Myofibrils show alternate dark and light bands

(3) They are spindle shaped uninucleate cells

(4), Their contractions are under the control of autonomous nervous system

NNY LodooH Joodod JOs a*gq:g:&d BOoRJW

(H ©d 8gsto Joforod IrHeown

(2) Jr¥) S04l SodhHew Istoddom Iy o8 HOw 5708 vods (HE0HJow
(3) ©d 03 ws$oS* asod ¥ ToBf Emrw

4) 8 HoS'IHn V3000 FEIg5Y whBos® sowod

[dentify the set of secondary lymphoid organs from the following
(1) Spleen and lymph nodes (2) Bone marrow and lymph nodes

{3)'l Spleen and Bone marrow (4) Bone marrow and Thymus gland
Bod o0s* 0385 Dorond eddchare =8 £380Srd.

(D PP dn H0d%0 Fadd fmPw (2) o Hoy HH00s» Fasd LmPw

3 L5 B0 505w e S 4) o oz HH0a» BHD |Kod
=] &= =3 =] i

¥

49.

Identify the wrong statement with reference to the functions of lymphatic system

(1), It has no role in destroying the invading microorganisms

{% Transports digested fats to the blood vascular system

{31 Lymph returns the absorbed nutrients to the blood

(4) It transports lymphocytes from lymph glands to the blood

FTa8d HgHD Vo HowoRodI VO Irgwgde H8ododn

() &°V8 S80d ¥ 1dHo FEnBaHs® Jwdol IS5 LA sodd
(2) 28 S §Hg worgrod 5 (D008 3':3;3%5‘.3 BE D os0b

3) FREVS5D FNoDS Fhsrod 80A $50s°d8 TdH)d

1) F28D Hogho H08 FTLLL Lmrod 850608 SararTasnd

Rough Work
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50. Severe combined immunodeficiency in man is caused by
(1) Deletion of gene encoding for Adenosine deaminase
(2) Deletion of gene encoding for ATPase
[31 Point mutation in gene encoding for Adenosine deaminase
(4) Point mutation in gene encoding for ATPase
Sr3PHAS* 8B D08 ogd A'PE StHo BAS503 Eendrd0b7?
(1) E3SDE SdNIES HoEd0T a2dogd) DdevgHo
(2) ATPES: HoE803 adogd) ddegio
(3) AASTDHS BIDTES 20TB0T 250gHS® Dod aS058S
(4) ATPIZES H0T80T 25gHS* Dok 48058

51. Choose the correct statements with reference to Mutation Theory
(A) Mutations occur from time to time in naturally breeding populations
(B) Mutations are continuous and accumulated over generations
(C) Mutations are fulfledged and there are no intermediate forms
(D) Mutations are not subjected to natural selection
(1), (A) and (C) (2) (B)and (C) (3) (A)and (B) (4) (C)and (D)
GSN0IES Dgroerds JowohodD VOTHS FrgpgoDy £ owidw
(A) Sdrzom (Dadd0 20D 23S EPHoS sordohmomr S 0SFT e
LoFIow
(B) ady0d8aen EQ{J‘):{:G N0l ad dddoromr DonddHerow
(C) 6805870 DOYE DI HBAS» Irggs SFoodD
(D) 680587 (DE)338e7A8 HOSY
(1) (A) 20 (C) (2) (B) Ddaw (C) (3) (A) 0cw (B) (4) (C) Ddckw (D)

52. Which of the following disorders is not caused by Pleiotropic alleles ?

(1) Erythroblastosis foetalis (2), Sickle-cell anaemia

(3) Cystic fibrosis (4) Phenyl ketonuria

6 (800 IS D Tgd gﬁa‘Lﬁ‘Eﬁcﬂmﬁa Q¥oysro Sod Looddd

(h JJﬂLe‘.i‘g.__r's??-:ﬁ AT IR (2) 554359 - Enﬁgﬁn‘&é

(3) BRE DIB'HO 4 IS 8&° Srgoosr
Rnugth-rk

AM 2015 B 24 S
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53. In birth control methods, which one of the following is an Intra Uterine Device 7
(1) DMPA (2) LNG-20 (3), Saheli (4) Vaginal ring

& (30d adgwdd 235 Johogn mﬁé&uﬁ‘ o8 ﬁn")-i‘aﬁruéﬁ FE S S0
®oNPIO ?

(1) DMPA (2) LNG - 20 (3) S (4) TR Soddo

54. Statement (S) : In brain stem, the pons is called as pneumotaxic centre with an ability
to moderate the functions of the “respiratory rhythm centre™.

Reason (R) : Neural signals from this centre can reduce the duration of expiration,

thereby alter the respiratory rate.

Correct answer is

(1) (S) is correct but (R) is wrong

(2), Both (S) and (R) are correct but (R) is not the correct e:n;planatmn to (S)

(3) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(4) (5) 1s wrong but (R) 1s correct

s*gwg (S) P Boddo stodBNST) FI S SrgBorersy§ So|ESootrds. abd
$A5 68" agdodhng IFod dS0oIAwRE00.

s*¥e0 (R) 1 6 SoldHad SoBaren ﬁﬂ*‘;}s% 050D SHo FTgHTLod
JArd o).

ad JDOTHS JIrgrddw

(1) (5) D0THJH, 57Q (R) SOTHIL 57

(2) (8) 0d%w (R) Tod J0ZHJD 579 (8) H (R) DOTHD DT s

(3) (S) S:005x» (R) Tods HDOTHID HBadn (S) £ (R) J0THS 58w

(4) (8) J00HJ3H 57, 57 (R) J0THI3H

55. What is the correct sequence of Man, taxonomically starting from superfamily to sub-

family ? .
(1) Hominoidea, Homininae, Hominidae (22, Hominoidea, Hominidae, Homininae
(3) Homininae, Hominoidea, Hominidae (4) Hominidae, Homininae, Hominoidea

Sr5PHd H080mod”® wotwowo 08 GDHWONS Ko HHD AT
528 0 52353

(1) ¥ arondoir, FTHLOT, 0T
(2) 5sronddir, ST, ST
(3) 5003, FFFuaondalr, 5008

(4) 55°00d, 5°0F, ¥ varondoir

Rough Work
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56. Match the following with reference to eye of insect

List-1 List-II
(A) Appoposition image (I) Secrete crystalline cone
(B) Dioptrical region (IT) Refractive region of an ommatidium
(C) Retinulae (IIT) Region having comnea and crystalline cone
(D) Vitrellae (IV) Houseflies
(E) Cornea (V) Photoreceptor cells
80¥%) 088 Hoo0doDS & (508 AV =& Lrddydw
=851 SE5-11
(A) I y>20S (H8Dowo (D D)H8E FoHH (dDood
(B) s083o8¥8e |@rod0 (D) JErodH SEFSS roddw
(C) J8dvo e (IIl) HEDboDd0 Hdaiw ‘J;:;t.!ﬁ oY So |roddw
(D) 89 (IV) &fien
(E) %Edbeo (V) sro@ |[mdeE Soren

The correct match is

ad HOTHD FEoY

(1) A-1V, B-V, C-IIl, D-II, E-I
{21 A-V, B-1V, C-IIl, D-I, E-lI
(3) A-IV, B-III, C-V, D-I, E-ll
(4) A-ll, B-II, C-1V, D-V, E-I

57. The contractile regulatory proteins that mask and unmask active sites in the sarcomere are
(1) Troponin-I and Troponin-C (2) Troponin and Tropomyosin
{3‘ ) Troponin and Myosin (4) Actin and Myosin

FEYWARESD @ Jahodn [ FEF BSSg FTo VT8 Ho0n wIrT S0
FSos® dotron

(1) (**I3-1 H0ds»n (S*VS-C (2) (S'FIS Ho0ds» (BT
(3) SIS L0 HTrDS (4 D85S H0n HoTWrds

M

Rough Work
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58. Statement (S) : Cockroach is “paurometabolous” with reference to its development

Reason (R) : In the development of cockroach, there is no nymphal stage.
Correct answer is

(1)¢ (S) is correct but (R) is wrong

(2) Both (S) and (R) are correct but (R) is not the correct explanation to (S)
(3) Both (8) and (R) are correct and (R) is the correct explanation to (S)
(4) (S) is wrong but (R) is correct

Tgwg (S) P TT00¥ 5)8Toda) ‘Foderdtol’ vourd.
s*dmo (R) : Q0¥ uﬂ:ﬁ;ﬁﬁ‘ PeErD FEIw bﬁad &,

20 DOTDI DIrgrddw

(1) (S) SVTHHB, 5° (R) HOTHID $°&>

(2) (S) S8d5» (R) Todd 20GhdD 573 (S) © (R) Q0TS IS8 &
(3) (8) S20c8x (R) TBody DOTHID S8as» (S) £ (R) PO0THS AD8w
(4) (S) P0THHD 57, ) (R) HOTHHS

9.

Alleles for a gene I are I*, 12 and 1°. If I* and I® are dominant over I°, then I* = [B > [°
1s indicative of

(1) Dominance (2)( Co-dominance

(3) Recessive (4)s Wiener hypothesis

[ 03 2355H% 14 1° 50050 I° oF aoify d¥ovjon dotrow. 1A Sodasn [P
ORI I° E57) e wond M =1B>1° 20 %08

(1) a5 Fé30 (2) I I
(3) wodgSI» “4) D58 vgrodsw
Choose the wrong match with reference to joints

(1) Synchondrosis - Epiphyseal plate

(2) Gomphoses ~— Intercarpal joint

(3) Syndesmoses -— Membrane between Tibia and Fibula

(4), Symphysis — Joints between vertebrae of mammals

& 808 S s".ﬁ,)ﬁa Q0208003 DS oA BwrdH)Sw

(1) DI570|@*DS — IDHRHS Ho¥sn

(2) Bodfer — wodd M3 odso S

(3) ho&ﬁ‘g’a&n — ©088 H0aw wirdoPfo Hgg So Sgusw
4) Dogrdo — S8oro ¥ASHso S8y sod few

__'F'—_—_———_l——_—.._..____
Rough Work _
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Abingdon tortoises in Galapagos Islands became extinct after goats with great browsing
efficiency were introduced. It is an example for

(1) Competitive exclusion (2) Competitive release
(3) Co-existence (4) Interference competition

o>HS Bedrod® D Do Lﬁﬂéﬁgﬁa 03 JDohES E‘"i');'ﬁ‘ﬁ‘} woddoTrown.
28 ADE acirde

(b s&‘ééég o Tt owoR) (2) ﬂ‘tﬁéég S o
(3) D5 35353 » (4) Sga8de 8
62. Choose the correct statements with reference to “Demospongiae”
(A) They are exclusively marine forms.
(B) They are colonial forms.
(C) Skeleton consists of siliceous spicules and spongin fibres.
(D) They are solitary and simple forms.
‘BBrdjo2dir'H HowododD VOTHNS argwgod BwoPdw
(A) a2 Pom JdE LHwo
(B) 22 Jd5034 2Hew
(C) uaﬂﬂaﬁ;ﬁmrﬁ"' 2Os¥obsten Holcin FyoRS e oo
(D) 2 REF S Jdsrod ZHeo
(1) (A) and (C) (2) (B) and (D) (31 (B) and (C) (2 (A) and (D)
63. Statement (S) : Marine fishes have aglomerular kidneys.
Reason (R) : Aglomerular kidneys increase the loss of water through urine.
Correct choice is
(1) (8S) is correct but (R) is wrong
(2) Both (S) and (R) are correct but (R) is not the correct explanation to (S)
{31 Both (S) and (R) are correct and (R) is the correct explanation to (S)
(4) (S) is wrong but (R) is correct
Fgwg (5) 1 DS Tdoohod SEEITOs H )8 d SarEDoarwotron.
sdmo (R) : ¥4 05 ﬁa:‘igﬁmé SardDoagrey Sargo oreor ABGodwd
58 Sardy wrU )y ow.
ad VOTHS Jdrogrddw
(1) (8) [021JH, 570 (R) H001IL 57
(2) (S) 0w (R) Body JDOTHID 572 (8)% (R) R0THS S 5o
(3) (S5) S0as» (R) TBods JOTHID Hdadn (9)% (R) R0 0D ST
(4) (8) DOTHIS 57, 57 (R) S0
Rough Work
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64. Vitamins required for maturation of R.B.C. are

(1) Vitamin B, — Folic Acid (2) Vitamin B, — Folic Acid

(3) Vitamin B, — Ascorbic Acid {4}!. Vitamin B, — Pantothenic Acid
Y 5 oo (RB.C) HODHEEH &IJFH 2005 ad

(1) QPSS B, — FOF5 &do (2) A0S B, — IOF wdHo

(3) DOWS B, — @ 0)F e D QoS B, — o5 BAE udoo

65. In which one of the following animals, parasitic castration is observed ?

(1) Culex (2) Carcinus maenas

{3)a African antelope (4) Anopheles

& (300 zodhPHos® BAKoE BorS)ES $TRIASD ABIJIw
(1) &rgos) (2) $70)8S I

3) Y25 Jo8S*D 4) oIS

66. With reference to cockroach, match the following

List-I List-11
(A) Ocellar spot (I) Genae
(B) Epicramal plates (II) Mandibles
(C) Cheek sclerites (III) Fenestra
(D) Second maxillae © (IV) Vertex
(E) Adductor and abductor muscles (V) Labium
D°R0EH JowodoWS & (80 T z& Lrddydw.
H8E-1 ﬁgﬁ-ll
(A) 3@ DodoPH) N 2
(B) #diadreo Dosten (I) SHopeo
(C) 858%) B (1) ado
(D) Bo&® =& z=open (IV) 2g5»

() ©d58d H0din ohBEN ¥odorew (V) wido
The correct match is

ad DO0THS #doY

(1), A-IIL, B-IV, C-1, D-V, E-II
(2) A-IIL B-V, C-I, D-IV, E-II
(3) A-ll, B-V, C-III, D-V, E-I
(4) A-IL, B-V, C-1, D-1V, E-II

Rough Work
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Identify the one which is not a disorder of circulatory system

(1) Myocardial infarction (2) Coronary artery disease
(3) Angina pectoris (4) Emphysema

(8od IS° b JE (Hv8w HIVH Todd ed 282

(1) STWrs*gasHd as&sgs (2) £6°56 ¢ma 0
(3) so2 ﬂg"’ﬂm 4) dopHBr

68.

Edaphic factors are related to

(1) Wind velocity (2) Humidity (3) Soil texture (4) Rainfall
QaHE e BIE HBowoBoDBD
() arcdn Jdo (2) 8% (3) H8 wEHR (@) S &o

69.

A fish, Nile perch introduced into lake victoria in East Africa led to the extinction of
Cichilid fishes in the lake. This is an example for

(1), Invasion of Alien species | (2) Fragmentation
(3) Over Exptuitatinn (4) Coextinctions

‘36 D6y o3I IdSs Sr8) o5t 50 sy DEN)S'8 (DTF wodo Sod
vy DI HEE TFdHw voddowrow. 20 B8 ﬁn‘mﬁm

() FRITEE 2o TEurww (2) & oddo (FADoBasS)
(3) 330 wa8dJTrHo 4) I Jwvdden
70. In a normal ECG, the component that signifies the duration of one Cardiac Cycle is
{l} R-R interval (2) Q-T interval (3) P-R interval (4) S-T segment
¥ o ECGS® 286 a"ﬁﬂ§ d0cs storSeR B005LTN0d
(1) R-R woddo (2) QT wo&ddo (3) P-R woddo {4} S-T modo
71. Identify the wrong statement with reference to the characteristics of embryonic stem cells
(1) They can give rise to the three primary germ layers
(2) They are pleuripotent
(3), They are isolated from epiblast tissue of blastocyst
%)‘ They can not proliferate in a culture medium
oddwre foro ofoodH Somodon HOSW TEWEH Mo oWodw
(D) ad Swrds (EDE Dadood J838SKor e o
(2) ad o .ﬂ-;ﬁo{fsu §0A dGodrow
(3) AV FFRY Ty VPP ¥nzroo HH0d F&H FA
(4) ad m;sg;a ;5.:'-:55:1:-:6‘ FuS TJodH
Rough Work
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712. ldentify the correct combinations

List-I List-11 List-I11
(A) Genetic load The existence of deleterious genes Sickle-cell anaemia.
within the populations
(B) Founder effect A small group of individuals from a Beaks of Darwin’s

population that start new colony in an finches.
isolated region

(C) Centripetal-selection It operates when homogenous environment Weight of new-born

changes into heterogenous type babies in London.

(D) Directional selection It works.by removing the individuals Average value of
constantly from one end and shifting length of Giraffe
fitness towards the other end of neck.
phenotypic distribution

(1) (A), (C) and (D) (2), (A) and (C)

(3) (A) and (D) (4) (B), (C) and (D)

61 1800 TAS" DOTBD :’:'ﬂoa#;&ﬁwu:&: SLR) DD

g1 SeE-11 2&&-111

(A) =dog 8o 2IPSt TEAEE DS 2dogHen DES DS

dodbdn ©Josr

(B) 398 2Ppo (dyrdo 03) 2P0 DS Swre 2y @*0¢s Podo
5008 SSow 58 DTIB,Y) IBE Sy ew
(rodod® [ FEohHIow

(C) ©dTo|8 S8wmo D580 TeSSdn DAaS: aomodods®
8% TESEedom Sr0SDpdy  @DodS SHurd
ad Sooiforehod o b

(D) &3 cSnd S8wmo E)Igord Q8w w8 wodgodst 2obhoddt
2Heo Fdomr Fohoswd DodTEH Do
205"8 vodgods® Edoom SEmo Jed
ST oW DS & 0w

(1) (A), (C) S:805x (D) (2) (A) S0a5» (C)

(3) (A) $2005» (D) (4) (B), (C) $:805% (D)

Rough Work
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73. Match the following

List-I List-11
(A) Ostracodermi () Lobe-finned fishes
(B) Coelocanth (II) Exocoetus
(C) Cyclostomes (IIT) Extinct jawless fishes
(D) Osteichthyes (IV) Hagfish
G 1508 TPI0 2EDHSHB®.

SEE-1 SQE-11
(A) ©3958°a@0) () ©od¥ v Tdew
(B) bos s (D) 83565
(C) D5 Fdwew (III) Dend SHden T Tdew
(D) 283 (IV) 5¢F 35

The correct match is
28 JDOTHS #doD

A) (B) () (D)
() @ an avy
2y an @ av) an
G) ap @y @ aAv)
@ O am an v

74.

In which syndrome the somatic cells of males have Barr bodies in their nuclei ?

(1)y Kline felter’s (2) Down’s (3) Turner’s (4) Edward’s

6 1808 2 2oIB'HS' PHRLEHo BT o Todser b BHod Lo
Gso&=ow.

(h 33988y (2) @) (3) &8)6y 4) dag8y

75.

In ADA gene therapy, identify the vector used to introduce the functional ADA ¢cDNA into
lymphocytes

(1) a-1 antitrypsin (2) pBR 322 (3) Retrovirus (4) alpha-lactalbumin
ADA 230g DESYS® o T sy 4D TrAoD (8BS 8 ADA SBoE) cDNA S
Do oo &°J8 HTFwsed

(1) a-1 dsro|8D3YS (2) pBR 322 (3) ﬂLt.S‘Echa (4) a:?;]—u'?mams

W
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76. Choose the correct statements with reference to reproduction in Paramecium
(A) The micronucleus divides by mitosis and the macronucleus by amitosis.

(B) The micronucleus is polyploid and the macronucleus 1s diploid.

(C) After karyokinesis the parent cell divides into two daughter cells, anterior proter and
posterior opisthe.

(D) It undergoes transverse binary fission during favourable conditions.

DN 55 (D&ogE 85 JowoHoWd DOwows a‘sq:rgﬂﬁa 20 0o

(A) ‘h?i@?oﬁéﬂn DBIYd orgor Hdan Jro So|8%0 ADotrvS orgo
wPizd Dodod

(B) m‘ﬁgﬁﬂﬁﬁﬁo uﬁ'ﬁfgﬂé"ér 2500 ol 1}!‘&30@50 Eﬁsuﬁa%ﬂé":}a
“1s] S W )

(C) "0 T/r33D0 ddhaord S08mo IFaed TJodbo Hod |06 (Yrogod
0 $08) HoOAD DY (Horod rHo H08) v By EHw I8 e ow

(D) & 29 wHhidireo DOR S D ypds wdy O3e” aagga 28HEH5

(1) (A), (B) and (C) (2) (A), (B) and (D)

(3) (B), (C) and (D) (4), (A). (C) and (D)

77. Which one of the following diseases is not treated by Inactivated Whole Agent Vaccines ?
(1) Typhoid (2), Hepatitis-A (3) Bubonic Plague (4) Cholera
808 TS D ogd DSy §'0H Ny 9r VoRrd (@BAFg T8 o0k
dHrAoSEs?

(1) Bronbé (2) WHBES-A  (3) g8 Db (4) Soo
78. Statement (S) : Marine lampreys migrate to rivers for spawning.
Reason (R) : Marine lampreys return to sea water after spawning.

(1) (S) is correct but (R) is wrong

(2) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(3) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(4) (S) is wrong but (R) is correct

agwg (S) L DB0(E orobo o HEd DOEIS 1Dardo IJvow
s8mo (R) @ DS orodw Hd DES SHard 80A JHwER) Therow
(1) (8) 20THI38, 570 (R) JO0THI86 57

(2) (S) H8d5w (R) Tody DOTHID 572 (S) H (R) J0THS IS8 57
(3) (S) bacsw (R) Godo JHBTHHD Hdosw (8) & (R) 2OTHR Jd0w

(4) (5) JD0THIH st 57w (R) D038

Rough Work
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79. Match the following
List-1 List-I1
(A) Obligatory anaerobe () Fasciola hepatica
(B) Facultative anacrobe (I1) Antelope '
(C) Polyembryony (I1I) Ascaris lumbricoides
(D) Reservoir host (IV) Female culex mosquito
(E) Biological vector (V) Entamoeba histolytica
1Bod TP zd K ydn
DE8E-1 28&-11
(A) vd50 ¥ vardsn 22 (1) 2rvoros Trards
(B) 35038 varoin 2 (1) A08S°S
(C) 0o DT (li) 308 woDs*odS
(D) efcir8Gon (IV) ©&8rg 88y &%
(E) 2sHa5¥o (V) Qobdwr rIsds
- The correct match 1s
20 DOTHS =doP
A) B) (©) (D) (E)
(1) avy «dmn (@ (I (v
@ W, a O @ av)
Gy (V) am @O a av)
4) av) an @  dif)y (V)
80. The unit formed by a longitudinal row of kinetosomes together with the corresponding
kinetodesmata 1is
(1), Kinety (2) Myoneme (3) Motorium (4) Dynein
28 Bohd HEHS® ad) IS How T8 IVSTAI o0 OB ¥ (ddrwomr
DEydods08. AV aur. D& oL
(1) 338 (2) HHTrAD (3) Irs*ochs (4) E:JE
E;ugh Work —
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PHYSICS

81. (A) Inap~ decay in a nucleus, a daughter nucleus that has discrete energy states is produced.

The daughter nucleus reaches ground state from excited state by emitting y-ray.

(B) The binding energy of hydrogen nucleus is far less than the binding energy of helium

nucleus.
(1) (A) False, (B) False (2) (A) False, (B) True
(3) (A) True, (B) False (4) (A) True, (B) True

(A) 2¢ So@%os® B~ Labo wonddypdo DHE FEFonven LIRS udg SoELo
6838 Tohwddod. adg SoBso y-58wm zdodWohdo wgo o

Fono 08 FrFrond 68508,

(B) o (&'2S So|¥o o) wodd ¥§ Lrdoko Fowso wodd 4§ fod arm

S5O
(1) (A) 823y, (B) 4Dy (2) (A) 5p, (B) d=o
(3) (A) R=zo0, (B) ri‘n’.:::.p (4) (A) D=0, (B) R0
Rough Work .
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82.

: A

pn junction diodes are arranged as shown in the figures (A and B). Identify the bias applied
to the diodes. r

|+

¥

mA P |wnl °

{

| B
A

(1) (A) shows reverse bias, (B) shows forward bias

(2), Both (A) and (B) show forward bias

(3) Both (A) and (B) show reverse bias

(4) (A) shows forward bias, (B) shows reverse bias

Herg® A S0 08w B &° Srad6e pn Dod EWrhw v pdlad. dBrbod
w08 adirad Miovod

(1) Aaﬁﬁ-ﬂ'éau 2050 Srved, B ‘Sg)ﬁi-iﬁaﬂ woirD Srnded

(2) A 520050 B oo Bods G50 IrdbT)on

(3) A 350050 B e Todr 8540 Jrbdar)on

) APE*HE o wosrd Srv%os, B 859530 20ird IrwIod

83.

A circuit diagram of CE transistor amplifier is given in the figure, then
CE (@5)825 $dfo Tog, LHoddho dhodt adendio. wond

C 2
|1
1 . e
C, R g/ |
——e—— ¢ R, |
1 —>
|
R Iy El Vo
I - e |
L_q : PR
(1) Vee = Ve * IRy (2}! Vae * Vi~ Ve + 1gRg
Vg = Vae + IgRy for V.= 0
() Vg~ Voo ~ IRy = Ry (@) 1R, = IRy + Al Ry
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A message signal of frequency w_ is superposed on carrier wave of frequency w_to get an

amplitude modulated wave (AM). Then, one of the angular frequencies of the AM wave
15

(1) equal to the amplitude of the carrier wave
(2), equal to the amplitude index of the carrier wave

(3) equal to the angular frequency of carrier wave
(4) equal to the modulation of the carrier wave

005 D0a aﬁ:l‘ﬁagifﬁﬁ (AM) é80m) FodbdH, a8 ¢ (DY TR AL
Woogy drdiPSgdn w_ 50, T oD IPSgdo w_ &8 oorgi bodards.
Eowd auma‘mmgﬁaﬁ d8oMYy TwE) =¥ Sdab PRI G

(1) oS SS0MR) £00d DoAS* Hirdo

(2) oS S60dYy SrdogTas Mnfdns Jddro
(3) b S8odY Sdah FB:PIgHNE® Ddrdo
4 oD SSoiy BrdogTais vdrdo

85.

A heavy brass sphere is hung from a weightless inelastic cord and acts as a simple pendulum
with its period of oscillation T. The sphere is immersed in non-viscus liquid of density
1/10 of the density of brass. Then it will act as a simple pendulum of period

aed Jwrd gﬁga?m e of 2didd add At ¢ Haoda Lﬁ oG bhads. wd
T Soadds sodnd) odustofdnm (589518, & ) D 48 T
B8S508° SpoDT 8. (EHo Fodd, add Jo|B88S” 1/105 Sod HI)d. wdypd
6 AYSn Jdod ﬁ"umﬁg STOBVD) Stogdon (250>06.

10 10 9}
(1} \’;T (2) ET (3) T (4) (ﬁ] T

86. A light planet is revolving round a massive star with a period of revolution T. If the
gravitational force of attraction varies as 2, then T is proportional to (r is the distance
between the planet and star)
a8 BOBS Hdrdo ) (BSgom8 Mo 3§ (Edn Hoor T (@FSard8d sr00d°
HOFWA0B. hhergsdn voo o2 $rdh&od edydk T2 H eds*srddrdom
Godo (T dn, SF 1SS0 Sgg drdo n
1) @) 2 3) 2 {43 12
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87.

The temperature of a steel rod placed between rigid supports and of length L, area of cross-

section A, Young's Modulus Y and coefficient of linear expansion a, is raised by T. The
amount of work done when heated is

PEH L, DoggBVHd ST ogd0 A, oSr0f Hom¥dn Y Ho8a5» BEg g8 omESn
a a3y =¥ afy 82 S)EFS egoo Ho¢gd GoD, oW ass T
2odd. 38 TSnbSod =0AD DI Jndd»

YAQT2L YA’T L YA aTL YAZo2T2 ¢

0 & — 3 — @

§8.

The ratio of the pressure (P) on a swimmer 10 m below the water surface of a lake

to that of the pressure on the_surface of water (P ) (Atmospheric pressure = 1 * 10° Pa,
p = 1000 kg m~ g = 10 m/s?) is

Lk B Fe%s® 58 Sovnd 10 . fEst Hd) a8 SHIrID LESI0IH

58 Sosnd 55) HESIeSH fo VL)Y (Tedde DA =1 10° Pa, p
= 1000 kg m™>, g = 10 m/s?%)
(1 3 @ 1 3) 2 (4) Zero

L

89.

A sphere at 600 K is losing heat due to radiation. At this temperature its rate of cooling is
R. The rate of cooling of this sphere at 400 K is (temperature of surroundings is 200 K)

600 K 5 &Sy Agdn Di8mo o°go° &R0 'S 18050, & sPIHE G vd
$ed Béo R & A¥S» 400K 58 ad)Rd @b ST T (uddn aP' s
200 K &n‘élﬂ}

3 8 16
(N ER (2), ER 3) -3—R (4) 7R

90.

Two perfect black bodies A, and A, made out of same material have diameters 2 cm and

16 cm respectively. A' and A"  are the wavelengths corresponding to their maximum
ol max &
radiation of energy at a cnmmun"iﬂmperatum. N and :L"m“ are related as

)] LE:.% RTINS Al,Azua 2,8 %éu'geﬁ:aﬁ‘ Sosand, H‘_g‘émm SHdamar
2 0.5, 16 0.9 £0A Pamyon. vd 23 GXASS' ad)RE A D0

A oo a8 Hood Seosd (0% oR D86 %o S8oif B go? Beod)erown.
©dpd a'm“ S0cn A" © Hadig DoVOE DB

(1) llm“ -8 :I'-"mm‘; {2} 16 limu =5 l“mu
(3) }"lmax - }"'“max {4} El‘m“ - l'"mu
= e ﬂ ————— ——
Rough Work
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A Carnot engine working between 200 K and 500 K has done work equal to 800 Joules.
Amount of heat energy supplied to the engine from the source is

200 K %8050 500 K o Hogg 903D seom)§ moz=ld 800 &°¢) 92 [hod.
25850 508 zouddh ©odELS 69 ¥E Sndsw»

800 1600
(1) ?J (2) zjﬂ—ﬂl (3) TJ ), TJ

92.

The rms velocity of a gas at T °C is double the value at 27°C. The temperature T of the gas
in °C is (assume that the pressure remains constant)

T°C ‘u'.‘ag 28 ordinsd) rms S8S3n, 27°C E’Jg :‘Q)F»ﬁl o) €33 00 83 Egﬂﬁ'}_} o8, Teadna
s i T, a1h "ﬂﬂtﬁLﬁEUtﬁ" hadSo 1-315::::":' Gotnoda ardowidn)
{]}1 927 (2) 820 (3) 1000 (4) 195

93.

Two trains A and B are approaching a platform from opposite directions. The siren in the
station is making a sound at a frequency 4 kHz. The passengers in the trains A and B hear
it as sound with frequencies 4.5 kHz and 5 kHz respectively. Then the velocities of the
trains A and B are, (velocity of sound in air = 340 m/s)

A H38cin B o3 TBodo Eﬁu& E’:gﬂﬂﬁ B¥ods® ¥ P& PEod DAV Iow.
VARS® PHI) PES 4kHz T8:pdgos’ dpo TFIod. By A Hdosn B
Q;.:al (DordHor o iegﬂ-al wdwm 45 kHz &:0ci» 5 kHz ﬂ*sﬁ:@:\‘:gn Ko
e 208 A, B 8%) Sren (MOS® ¢ed Jdo = 340 m/s)

(1) 42.5 m/s, 85 m/s (2) 75 m/s, 55 m/s

(3) 85 m/s, 8.5 m/s (41 42.5 m/s, 62.5 m/s

94.

According to Rayleigh Scattering law

(1) The light of only longer wavelengths is scattered more in earth’s atmosphere.

(2) Small-sized dust particles scatter preferentially smaller wavelengths of light.

(3) The large size dust particles scatter only light of short wavelengths.

(4) The light coming from sodium lamps show Rayleigh scattering very efficiently by large
sized dust particles.

ogD-H0E D drEod ad

(1) g sessnod® &8 SSoKS0ne 5703 Sr|E D HOFDIMH
(2) DDy DODrIw 5o $rP smPHw Sdardrfom voy SSoi Bgrgeldy
P08 DO DA ow

(3) 248 5050 YDA Sr0 wmodos vwoy 08B g0 &) 5708 S8
563 D ow

(4) DS HOIrmo DAL SrP wooPHer FddSo b0 J08 IST 5708 ovgd

=]

20 E dodud -;'5_.,{-55‘ (20 )0

Rough Work
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A Telescope using an eye picce of focal length 3 cm has a magnification 10 in normal
adjustment. If the Telescope is now used to view an object placed at a distance of 180 cm

from the objective, the new length of the Telescope is (assume the final image is at infinity)

3 208 v TYrgodddn o of SLEdn 65) SrdS8 0 Twg) vdIIS
Forden ddurend® 10, 3% 0850 H00d 180 Ho.do. Srddnd® S
Srdtrdd Srd80) adTWrAothb®h, v SrEE8 ) TWoE) 58 PEH (D50
(H8Dowdn vlod Srdsnd’ &S558 550)

(1) 36 cm (2) 39 cm (3) 32 cm (4) 33 cm
L]

A monochromatic light beam of wavelength 5896 A is used in double slit experiment to get
interference pattern on a screen. 9™ bright fringe is seen at a particular position on the

screen. At the same point on the screen, if 11" bright fringe is to be seen, the wavelength
of the light that is needed is (nearly)

2 2888 S80MB ggo 5896 A Ko 5708 Dyozo zob VO¥ (DArAos® H33EEm
Irgirdn 9395 N8 Fode®H Tdwdod. B985 g 28 VgL FIIe 54
9 5 Sog850% Y ¥5u838. B985 NS T PFISw S 11 5 SgdSoh
b8 SSwaool, sHobd 50d WuE) SSoABggo, (ST

(1) 3525 A (2) 7014 A ml 4824 A (4) 6780 A

97.

Electric field on the axis of a small electric dipole at a distance r is E, and at a distance
of 2 r on its perpendicular bisector, the electric field is E,. Then the ratio E, : E, is

a€ DI) Vg8 BIS wfoDd r Srdod® Ddgd E (o E, 5000 ord vow
HHo0gwodd Tod 2r drdod® Ddgs 3 (So E, wond E,: E, d4)3

N, 1:4 (2) 1:16 (3) 1:8 4) 1:2

Rough Work
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98. Thin plates, each of area A, of four identical capacitors are arranged such that adjacent
plates are at a distance d apart with air as the medium. The plates are connected to a source

of V Volts as shown in the figure. The charge on plate 2 is
w550y 3Togin Amrdo Jreof) VILRIrIFoD SIrWed Doodd) dofods
G DI) Dofo Hdg d SrEsw GoTLL G EID. & Dofm V o o

GS)8 2ILSNIH DOINST IrDS IFINMT D0Q0DwESD. Do¥ 2 B Ao
WBAS0 Ded

o S
1| 21 3| 4| s T ¥
€, A €. A IEUA €. A
s v QL e 7 o 3y =R=w
(1) 2 (2) g (33 d (4) 4d

99. In Gallium arsenide material, Ohm’s law does not hold good because

(1) current remains constant for any value of voltage

(2) resistance is infinite

(3) negative resistance exists in the voltage-current variation

(4) current goes to infinite at very low voltages

MO0 ©80) 36 (Sargd¥od’, 4oy VohHSodn H80DE, JodESm
() . 5'g2 Dewd 3550 V&8 (DD dw Pomr Godad

(2) A6 Hw wSodo

(3) T2 - Dog8 (PIrSw SrEYSt G DE S0 LONASHSB

@) T wo) SY2 5 IBgs Pardrdn edoddom Gods
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100. A non-conducting ring of radius R has charge Q distributed over it. If it rotates with an

angular velocity o, the equivalent current is

R argrgsn o a8 eadréd doohod udfo Q DSOS HH8. ©b o Fedah
FHsns Pondn DD Jdo, dog s PTTY Jd

Qo Qo Qo

1) S, & o5 (3) Qu @ =
&

101. Two concentric coils, of 10 turns each, are placed in the same plane. Their radii are 20 cm
and 40 em and carry 0.2 amp and 0.3 amp current respectively in opposite directions. The

magnetic induction (in Tesla) at their centre is

25350°08 10 Sodn Hdo Todks D8 Sos¥ 84 Sebods 2F Sood &0 B
ua‘nmaﬁ:. a3 agmgmm S&5aa 20 em 530030 40 cm, S:8cin IvD) O°QO”
SEBm 0.2 amp $00%0 0.3 amp © dBgE $38TE BFod’ (dITRTyon. I
To|8d» $8 echypod (Dim D (BISY)

7 5 3 9

102. A galvanometer of resistance 99 €2 requires > mA. current for full scale deflection. It can

be converted into an ammeter of range 0.5 A by connecting a shunt resistance of

99 Q DESE Ho MogTErHESn Bwgsn byS EBIEISH JoLerdS 5 mA
DEgE (arirdn STHTH. A 05 A 9SEIS» (range) ooy 576)
S$erd8 sSoBd hof IFESW

{17}(\3 Q (2) 1Q 3 2Q {f} 4 Q
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103. A bar magnet of magnetic moment 20 J/T lies aligned with the direction of a uniform
magnetic field of 0.25T. The amount of work required to turn the magnet so as to align its
magnetic moment normal to the field direction is
2¥ BoO BaHIY 08N BaHIY0S EBESD 20 IT. oI 025 T DEbS echHidmos
B (& &84 * 050 T8, wdhdpoerd), o°R wdhIpod |PrdEsn, § (o708
©OROMT GoTULEL Lahjaﬁ‘é;p#a 20T D Jeod

1) 0.10] (2)y 051 (3) 031 (4) 501
¢

104. The magnetic flux linked with a coil varies with time as ¢ = 3t> + 4t + 9 webers. The
induced emf at t = 2 sec is
2 86 S0H wIHoTIoDd W od whaIrdo sToIE' =30 +4t+9

Seboom 53820538, t = 2 sec ;5%5 L] ;Jtﬁagﬂ-':,ﬂg podn Dol

(1) 10V (7% 1V {3].! 6V (4) 16 V

105. A resistor 20 £, inductive reactance 15 €2 and capacitive reactance 15 € are connected in
series to an AC voltage source V =200+/2 sin ot . Then the maximum current in the circuit
is
20 Q J5°GEo, 15Q DEEde 1988 Po¥e DEFo Hdasw 15Q Edodg D88 Goko
T>BOEoS V=200/2 sinot ooy Jsrodd ﬁéa 2355708 L‘idﬁ"ﬁaﬁﬂﬂéﬁﬁﬁ&,
v Jodhod® #0H Jdgs (Do Jwod

(1) 2042 A (2) 1042A (3) 10A 4) 20A
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106. An electromagnetic wave is travelling in a medium of permeability p_ and permittivity e .
If *c’ is speed of the wave in free space, then, the refractive index of the medium is
M, ‘-‘aﬁacﬂ:ﬂﬂé, €, 1&&;&33&3 LOAS oSrd¥od’ ¥ Ddgddlidpod ddoifo

(PSrdFod. v SSofo B, IHo dss*ios’ ¢ wond, drSfo TE,
5 8¥5% Hw¥o

(1) o€, By Q) ——

pm Em
1 |n
© ;g @) c|m
m " Bm

107. In Davisson-Germer experiment the decrease of the wavelength of the electron wave was
done by

(1) keeping more distance between the anode and filament
(2) keeping the same potential difference between anode and filament
(3) decreasing the potential difference between anode and filament

) increasing the potential difference between anode and filament

BD25-2835 [HTrios® Jogyd SsoKFggo Sifde Tdnbs Tod
(1) 68 Doolt Sogg Srdo I8 Sm Db ago

(2) o568 Doods Sdg 5880 FBYcHS PSS Gohd argor

(3) 65’88 HoDosE Jogg 1TSS PES0 Aot ogo

(4) oSG8 HoDoSE Sgg PBYoRS FoIn Dol argo
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108. The values of potential energy, kinetic energy and the total energy of the electron in the

fourth orbit of hydrogen atom are respectively

a8 828 DOSrmPS' Teodd 550 JoseSH S BRAHS 48, 4 48

S2805n Bwdo -’d’_ﬁ; denden SE8Hm

(1) -1.7eV,+1.7 eV, 0

(3) +1.7 eV, +1.7 eV, =34 eV

(2) -1.7 eV, -1.7 eV, -3.4 eV

(4! -1.7 eV, + 0.85 eV, —0.85 eV

109. Match the following

A

(a) Michael Faraday

(b) Niels Bohr

(¢) I1.J. Thomson

(d) Chadwick

& 508 T uddHISod
A

(a) SIS BT

(b) A&y 5°6

(€) 1. ordns

(d) o8¢5

(e) Quantum model of Hydrogen atom
(f) Laws of electromagnetic induction
(g) Discovery of Neutron
(h) Discovery of Electron

() F&'=S DEErm Ssgoss SHurde

() JdogdSchd)od w8 Aadbdoren
(g) :-:'gl_trﬁ @y e
(h) Jdog"9s wIh) Je

The correct match is
28 HOTHS FdoD

@ ® (@© (@
() ) (@ () ©®
2) ) O (t) (g
B H (& () (g
4) (8 () (h) (D
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110. Dimensional formula for coefficient of restitution
L}’:E‘*g;ﬁ.?é HrmEinidh e é"ﬁagﬁ'
(1), MLT* 2) MOLOT® (3) MLT (4) MT?

111. A stone is dropped from the top of a tower of height 45 m. One second later another stone
is thrown down from the top of the same tower. Both stones reach the ground at the same
time. If g = 10 m/s*, magnitude of the initial velocity of the second stone is

2% oronn 45 . 2835y 3pdod S008 (BobE 508058 ¥ T8N dogd
$:6°¢ orond oB IESPD $08 (8088 IWBTE. Todk om¥) Fod wTT>o
Soaron. g = 10 2/, wond Dodd ocon &9 B DOIrwdn

(1) 16 m/s (2) 25 m/s {3} 12.5 m/s (4) 8§ m/s

112. The position of a particle is given by T =3i - at’j+ 5k . Then the magnitude of the velocity
of the particle at t = 2 sec 1s

28 € o 800 DFom aSgWEIL F=3ti-at?j+5k. t=2"%. 3¢ $o 34
DBSrosR

(1) 265 m/s (2) J276 m/s G) J246 m/s (4) J255 m/s

113. Three bodies A, B and C are projected with the same initial speed with angles of projections
30°, 45° and 60° respectively. The body/bodies having maximum range :
A.B 28050 C o3 Swrd ddaRen S8 30°, 45° 530050 60° S8t BIrD
59 588 (8do VohwddD. #8H IgR FOAS ShoH/ENHea:
(1} € (2) B (3) A {41 A and B
A $5:0d50 B

114. The vectors A.Band C are such that |ii=[ﬁl,|ﬁ|=ﬁiilandﬁ+l-3+l§=ﬂ. The angles
between Aand B, Band C respectively are
Sofen AR 50050 Co Howodsn |A|=|B|IC|=V2|A| 320052 A+B+C=0-
ABo 363, B,Co ogg Epdno DM

(1) 45°, 90° (2) 90° 135° [3) 90°, 45° (4) 45° 135°

_ﬁ_—
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115. A car 1s moving at a speed of 60 km/h traversing a circular road track of radius 60 m. The

minimum coefficient of friction to prevent the skidding of the car is (g = 10 m/s?)

60 Do Tgrddn do o Syesd §do Srdo Moa 28 8 60 8.0./fow
588 (HArBNI) 0. 0 FEH0 IF00DHOH BIDEHM DG Ddn s
(g = 10 H/2%

[1} 25/54 - (2) 21/54 (3) 15/44 (4) 21/44

116. When a force F is applied to a mass m,, its acceleration is 6 m/s?. If the same force is
applied to another mass m,, it gives an acceleration 3 m/s®. If the two masses are tied
together and if the same force is applied to the combination it gives an acceleration

o8 posn Fd m 1835080 (dTrhodSm ool $gdndn 6 5o/%°. o8 SISACARY
m, ($Hg0*8 L*;:m:-n'{_:; o' dedmadn 3 il:ﬁ:z. Body Lr:ﬁa‘ig oo SO
EYS S8 ©d podn DoWrHdeD (DTrAD wodn ¥0A0T &gdndw
() 1 m/s? (2) 3 m/s® (3) 2 m/s? 4) 15 m/s?

117. A particle of mass m is moving in a circular path of constant radius such that the centripetal

acceleration is varying with time as a_= k?r > where k is constant. The power given to the
particle by the force acting on it

m (8358073 Ao of Sadn PE Fgrdin do Symsd Srdod® od e
$30md0 a = k't o3 DDEER0SH 3 Soos T 1S58, af s k
2005w, ¢ fwo» DIVDH wwo ¥wrdd owd)d Frdod g

(1) mmk?rt (2) 2mmk3r*t (3) mk*r’t (4) zero

118. A bullet is fired from a gun with a velocity 30 m/s at an angle of 60° with the horizontal

direction. At the highest point of its path, the bullet explodes into two parts with masses

in the ratio 1 : 3. The lighter mass comes to rest immediately. Then the speed of the heavier
mass’ 1s

¥ &ard Hood af 20888 30 N/ FHS508 8= DIrodd BI%H 60°
Saind® D)o . ovd Srdos® H0Q & & wTE, |ESgorden 1:3 HIy
TCody aremeon E)ﬁf‘;)h;&a&n Todd0. BO§ (B$S5g0r? Tosd dd)o 288 50HI8.
odpd 2HIS |BSgom? S&

(1) 30 m/s (2) 20 m/s (3) 10 m/s (4) 5mfs
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119. A loaded gu-n of mass M fires a bullet of mass m with a velocity v at an angle of elevation

0. The gun is initially at rest on a horizontal frictionless surface. After firing, the center of
mass of the gun-bullet system

M—m)
M+
mv cos 0
(M +m)

v
(1) moves with a velocity in the horizontal direction

(2) moves with velocity

)
m\rsinﬂj
M+m

M ($S5g0°? $0A w088 Joddind) 28 Sodrs m(8&5go? Mo uf 2wddd v
36508 0 63)8 Sndnd' LYTE. > FOr ¢ oz HIroSE P
88 Sodn 28 65)8. DOYS SKHTS So>E-wPE Sg8% 855073 (So|8S

M —
{12 kL ol e 3608 L8z H5ro8s 8IS LHendiod
M+m

mv cos 0
(2) (M +m)

(3) moves with a velocity V[

(4) moves with velocity [

SH 508 Ediendiod

(3) "(ﬁ;] SH50E ¥dendi00

, [mvsinﬁl
) M+m

] B0 Xenidiod

120. A solid sphere and a thin spherical shell of same radius rotate about their diameters with
same angular momentum but with different angular velocities. If M, and M, are the masses of solid

M
sphere and hollow sphere and if their angular velocities are in the ratio 1 : 2, then [M—'J is
2
3 TgIEHn SOAD 28 Do A¥dn of Moffdsdn o8 Fghdwe dlomr ud
Sdoh (S5 S50, DPI) ok JAswos® Fdrmsn FoswSy3)d. M, M, oo

D05 B FSw, Mo Addoe (BSgorhoon o8 Faldah FHsdne V%38 1:2 wond

IIII"|Il
®D PE M. ]
2
10 5 |
M 3 @ 3 3 3 @ 3
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CHEMISTRY
121. What is the volume (in mL) of 0.5 M NaOH required to prepare one litre of 0.2 M NaOH ?

2% Hods 0.2 M NaOH &% Sc5rd:Ddinsd®d se50%s 0.5 M NaOH H59085rm0
(mL od®) Jod?

(1) 250 (2) 200 (3) 500 (4) 400
L]

122. If the standard molar enthalpy of formation of CaO(s), CO,(g) and CaCO,(s) is =635, =393
and —1207 kJ mol™' respectively, the A H in kJ mol~! for the reaction
CaCO,(s) — CaO(s) + CO,(g) is
Ca0 (%), COL(a) H00cSn CaCO e (ddre Jrerf Jodds Jogd)m

S83bm 635, —393 S:80%» 1207 k] mol”! eond,

CaCO,($2) — CaO($2) + COXa™) $8g& A HO Kl mol'oc*

(1y -179 (2) 965 (3) 2235 (4) +179

123.1f the K_ of a sparingly soluble salt, A;B, in water is 1.08 x 10~ mol® L™, its solubility
in mol L' is
»¥ wojorddah odwmo, AB,S o &3 e5* Ksp, 1.08 x 1078 mol®’ L™ wond, o
ordedosod mol L os®

(1) 107 ) 1073 (3) 1072 (4) 1.08 x 1072
< X

124. At a certain temperature, for the equilibrium H,(g) + I,(g) = 2HI(g), if the equilibrium
concentrations in mol L™! are '

[H,(g)] = 0.20; [I(g)] = 0.20; [HI(g)] = 2.0, its K. is
af 0a aFfd 54 Hy(a) + L(a) =2HI(=") ‘J:-:Sau-’;gaé". D8 mgdo
mol L'os® [H(57)] = 0.20; [I,(5%)] = 0.20; [HI(=")] = 2.0 wowd, o K
(1) 1 (2) 10 (3) 0.01 (4) 100
. X
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SR 3R 2IR

125. Hydrogen spectrum gave a series of lines at — = he dﬁ m~' (R = Rydberg constant
in cm™"). These lines belong to
(1) Paschen series (2) Balmer series {3L Lyman series (4) Pfund series
R 3R 2IR .
= * >, ——cm
IrEes $gdbo 6 16 S0%» oo $¢ Adeo (D adyod
(R=05 @8 Hooddn cm’ lod®) & Adwr B8 Ho20HoNSD?
() Fas (A (2) wrHo6 (Fed
(3) BHS (A6 4 I (I

126. The ground state energy in J, of hydrogen atom is —X. The minimum energy in J, required
to promote an electron fromn=1ton =2 in He" is

Ir@'as D8Srmod PrFow 48 Jos' X . He' & n=1 %08 n=2% Jog 98
Blebletale Sodoan8 Hé%gﬁ.‘:ﬁa 53% 48 Teodst

4X 3X
(1) 3X @ S G) @ 4)

%
4 3

127. The metal which can form an oxide having metal : oxygen ratio 2 : 3 is
5o @ udyzlde A8 2 : 3 do &3 3830 I8ydd Sfho
(1} Bi (2) Sn [3; Na (4) Ba
128. The first ionization enthalpies of N, O, F follow the order
N,O,Fo 30d8 vT0IZAs Jnm-ﬂsjm oSy |F¥dodw
() F<O<N (2) O<N<F (3) N<O<F [4.}F¢N{U

129. The dipole moment of BF, is zero because
(1) The electronegativity difference between boron and fluorine is more

(2) It is a covalent molecule

(3) It is a tetra atomic molecule

(4), It 1s having trigonal planar geometry

BF; 084)d (@280 Jdend 0D). JodESm

() 5°0°S, FOS0 Hogdg vwn Idogord 88 Bar IS
(2) 28 JSHHToradod o)

(3) ad Jroo DESTr@POT) V@I

4) ad (85 ddodo 2gd EOANS )0
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130. Which one of the following is not correct ?
(1) Number of unshared electrons on the atom is also considered for calculation of formal
charge.
(2) Formal charges help in the selection of the lowest energy structure of molecule.
(3) Formal charges indicate real charge separation within the molecule.

(41‘ Formal charge of each atom of polyatomic ion can be calculated.
(Bod &ES* B DOTHHS 5°6?

() &85 F°00 T3 odhdH DESrmPH & ad) Dok add Jostebod
8o GaWrAIG

(2) 838 o ©8 55 3o wm No7 ey H8oSerds 4dTridderown
(3) #89 Triw wmPSA dz Fv§ IF=II IrdbIrow
4 27 DEIrmE VArSST) (98 DESreNH FE S T8 B oWBUa)

131. Which one of the following statements is nof correct ?
(1) The kinetic energy of a gas is inversely proportional to temperature (in K).
(2) For ideal gases, compressibility factor, Z = 1 at all temperatures and pressures.
(3) Viscosity of a liquid decreases with increasing temperature.
(4) The order of root mean square velocity (U, average velocity (U_ ) and most probable
g velocity {Ump} of a gas is U e U“ > Ump.
& 1808 IBEnos” A0 JHOTHHE 5787

(1) 2% orddn A8=48, ad g (KodhH)H ISt SrSodrdods® dotwod
(2) o) aF|AS, DdTro $§ wdE) SHoH Ho0DES Hefo. Z=1 vHdod
(3) (S50 DY, T ASS® DSOS e Sf300 |

4) 28 TanY, Iro Sgo DA 3¢ Swro FAsw (U _) wdeSde (U)
H8dsn £8% Dogrdgsr THo (Upp) © (E00, U > U >0,
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132. The gas that liquifies first, when cooled from 500 K to its critical temperature given in
parenthesis is

500K $008, $03988m0d® adgadd Hodd s HEH TanPHd ISOESmid0
TdPdo Bdd (EIYoSHdd

(1) 0, (154.3 K) (2), NH, (405.5 K)

(3) €O, (304.1 K) (4) N, (126.0 K)

133. Three students namely A, B, C have done an experiment two times individually, for which

the correct value is 2.00 g. The results are given below

Experiment 1 Experiment 2
(8) (8)
Student A 1.95 1.93
Student B 1.94 2.05
Student C 2.01 1.99

Whose results are accurate and precise ?

A, B, C »d SnH6 dorgdhen o8 (DTrm) 2824m Todsdrds S w
DOrmrdE odw Jeod 2.00 g DT deodew Sod adgwdID

- |@%3rido 1 R@Eeio 2
(8) (8)
Jogd A 1.95 1.93
Jorgd B 1.94 2.05
Qorgd C 2.01 1.99
QB0 (DT Jovdeoo FJFomD, Esomrd aTT)on.
(1), € (2) B 3) A (4) Aand B

A S:8c5xw B
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134, NH

(H,CCO),0

/B\

Br

2

Pyridine 5,545
Identify X, Y and Z.

o+

Y —4

X, Y 520050 Zods K:80%se.

X
NHCOCH,

(1)

GOCH,

N-COCH

NHCOCH,

e

NHCOCH,

e

Rough Work
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NHCOCH,

Br

Br

COCH,

N—-CGCH

.

HHCUCH

¢

NHCOCH,

ho4

H,CCOOH™ (Mgion)

(2E3)

Z
NH,

i _Br
Br
NHCOC Ha

Br

NH,
B

Br@/Br
Br
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135. H,CCH,CO,H

What are X and ¥ 7
¥ 538c3n Yeo 227

X Y

(1), H,CCH,NH, H,CCH,CO,H

(2) H,CCH,CONH,  H,CCH,CH,CO,H
(3) H,CCH,CN H,CCH,CONH,

(4) H,CCH,CONH, H,CCH,CO,H

136. Identify Z in the following reaction
Bod Hdgs* Zdo HofoRPdw

i) Ba(OH),
i) A

r

2 H,CCOCH,
HJ

(1) H,C—C=CHCOCH,

(2) H,CCH,CO,H

(3), 2H,CCO,H

(4) H,CCOCH,CO,H

137. H, OH H
OH
OH

H
X Y Z
Identify X, Y and Z.
X, Y S0dw Zod Mlopdwn.
X Y A

(1) Resorcinol Catechol 0-Cresol

00 YS'S LSS o-|8 S
(2), m-Cresol Catechol Quinol

m-|8 S S0s'S 8e3'S
(3) Catechol Resorcinol Quinol

B08'S 8 0SS 8e5°S
(4) o-Cresol Resorcinol Catechol

o-3S Eé‘ﬂ:}ﬁ‘ﬁ' EHES
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138. The correct order of reactivity of the following iodides in S, 2 reaction is
§2 S8gS” (808 oTr@ho TWwE) V0TI Worglod ($do

(i) H,CCH,CH,CH,I (i) (H,C),CI (1ii) HJEEHz'i']HCHl
I
(1) (i) > (i) > (i) (2) (i) > (i) > (iii)
(3)p (1) > (iii) > (ii) (4) (i) > (i) > (iii)
139. O = C—NHNHCH(CH,),
| ~

N

Drug ()

w0 s (1)
The above Drug (1) is an example of
(1) Antiseptic (2) Antacid (3) Analgesic (4) Antidepressant
» Hdody D ---mm-e-- ¥ aorrde
(1) 950 IS ES0 (2) &b I6°FESn
(3) Sy PSS LS (4) Srghoss V6 EED0

140. Which one of the following has two a-D-Glucose units ?

(1) Lactose (2) Maltose (31 Sucrose (4) Cellulose
808 &8S° 26 Tods a-D-Ars'E dorded 0N ABNDHB
(1) o~§'E (2) Srg*E | (3 S 4) oogstE

141. Identify the addition polymers from the following
(i) Teryvlene (i) Polypropene (ii1) Polyacrylonitrile (iv) Nylon 6
(v) Polyvinyl chloride
2o T8S* Do¥old FOZBod Hr8oPdw
(i) BOOS (ii) FO@DS (iii) FOIZ 95°3B9S (iv) BorS 6 (v) FOIZS § 86

T

(1) (), (iv) (2) (), (1), (v)  (3) (i), (ii) @) ), (iv)
Rough Work ' '
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142. Which one of the following complexes has more magnetic moment value ?
F08 “o3drod’ TIE &S edhdpod [FHE Dend Lod?

(1) [CoF]*" (2) [Fe(CN)J*- ®) [Co(NH,)** (4) [Fe(H,0)**

143. For the first row transition metals, the E values are
E® \ Cr Mn Fe  Co Ni Cu
(M¥/M)  -1.18 090 -1.18 044 028 025 +0.34
What is the reason for the non-regularity in the above values ?
(1) the variation in densities of transition metals
(2), non-regular variation of ionisation enthalpies
(3) different number of electrons present in M?* ions
(4) non-regular variation of ionic radii
Bl l_’itﬂ DOBHED 50 E° Denden S0d ddorr & T°) 0D
EY \' Cr Mn Fe  Co Ni Cu
(M*/M) -1.18 -090 -1.18 044 —028 025 +0.34
D doodeo w¥ (¥H0d TEFE@RE sSwo 2?2
(D 2BIES dwrosto Fo(B8S° Srdyw
(2) BoHECn Jogrdyust SrK) a8 (EH DEaS' TEdsdo
(3) M* wdrSodh Q& “éumgﬁ‘ Jug‘jﬁmuﬁbu
(4) wddrof a‘gﬂ'g'uﬁ‘ Srday 8 |Fd ‘égﬂcﬁ" G R Y- 1)

‘144. In which one of the following reactions, a 16 group element will get precipitated ?

(8o® @ S8zt 16 $ (K05 Swrofo ©IFEDS5HS087?

(1) 80, +2H,0 + Cl, —> {2)., Na, 50, + Cl, + H,0 —
(3) Na,S,0, +Cl, + H,0 — (4) 2FeSO, + H,S0, + Cl, —>
Rough Work
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145. Match the following

List-1 List-I1
Oxoacids of Phosphorous Oxidation State of Phosphorous
(A) Meta Phosphoric (I) +4
(B) Pyro Phosphorous (I +1
(C) Hypo Phosphoric (1) +2
(D) Hypo Phosphorous (IV) +3
(V) +5
Fod o8 adddodidw
ardor-1 rae=-I1
?:&;,65 uEuLb é"?.:'};)dﬁ u&aﬁﬁm 28
(A) Doer ;_'.'ﬁ-ﬂ‘;]ﬂE () +4
(B) =& q?vv::-gﬁf:- (I +1
(C) e @*#JE}E (IIT) +2
(D) = @"::q)ﬁﬁ (IV) +3
(V) +5

The correct match is

20 VOTHS DIrgrodw
(A) (B (C) (D)

(n, vy avy @

(2) (V) ((av) an (@

(3) (V) () «(I) ()

4) (m avy an (@

146.CaCO,MgCO, —2 5 X + Y + Z
What are X, Y and Z in the above reaction ?

K iﬁd%‘ﬁ‘ X, Y 550080 Z o 227
4 Y Z

() CaCO, MgO CO,

(2) CaO MgCO, CO,

(3), CaO MgO 2CO,

(4) Ca Mg ECDE

147. The order of coagulating power of PO;~, SO}, and CI” in the coagulation of a positive sol is
28 $oBd IS dposSost, POJ, SOT Bo8ax ClI” © Hpodd Isodg (€00

(1) 80 >cCI">PO; (2) PO >S0F >Ch
(3) CI">S0; > PO;” (4) CI" > PO;™ > SO;"
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148. Assertion (A) : The rate law of a reaction cannot be predicted from its balanced chemical

equation, but must be determined experimentally only.

Reason (R) : The order of a reaction is always an integer like 0, 1, 2 and 3.

The correct answer is

(1) (A) is correct but (R) is not correct

(2) (A) and (R) are correct, (R) is not the correct explanation of (A)

(3) (A) and (R) are correct, (R) is the correct explanation of (A)

(4) (A) is not correct but (R) is correct

D385 (A) @ 2% S8 Téw :':nﬁbﬁﬁw-;}l (ST Sorm (@D DBonoSLETHmrd
ord dogo Fdhadd EIahd IDEEmo $08 IgBoITI.

eale e {B} 1 wE JSorglEdrofdn Jopd 0, 1, 2, 3 5T w¥ Prooo.

A0 DOTID DIFGEHEW

(1) (A) éﬂﬁaﬁ&, ==« (R) ﬂﬂ"ﬁiﬂéh =la)

(2) (A) £50 0% (R) eo :f:nﬁa;an (A) £ (R) 00D I8 s

(3) (A) &H38di» (R) oo mﬂ@aéﬂ. (A) £ (R) mﬁ_‘gﬁoaﬁ HYe]

(4) (A) POTHIB 57, 57 (R) 2OoLJH

149. The conductivity of 0.01 mol L™ KClI solution is 1.41 x 10~ § cm™'. What is its molar

conductivity (in S cm? mol™") ?

0.01 mol L' KCl (o°$0% aorE8go 141 x 1072 Scm™. ood Srord avirgdgo
(S em® mol™! ©&*) Jo&?

(1) 141 (2) 14.1 (3) 1.41 (4) 1410

150. An aqueous sucrose (molar mass = 342) solution is labelled as 20% w/w. What is the mole

fraction of water in this solution 7

2.€ MLE“&‘? (Foeerb |BSgord = 342) zo Lﬂ‘&‘.‘rﬂ‘ﬁl 20% wiw ™ ardoard). &
TS @od® A8 Jrd o Bos?

(1) 0.945 (2) 0.955 (3}' 0.987 (4) 0.961

151.

The density of 20% (w/w) aqueous KI solution is 1.202 g mL~!, What is its approximate
molality 7 (molar mass of KI = 166)

20% (w/iw) Kl 2o |oradney Jro|dd l.lﬂlgmL'l. 0" GETOWOR) Brordd Jod?
(KI @ng) 3rerd S5g0°3 = 166)

{IJ 25 m (2) 0.5 m (3) 1.5m (4) 0.15m

Rough Work
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152. A compound is formed by elements ‘X’ (cations) and ‘Y’ (anions). lons of “Y” form cubic
close packing (ccp) and ions of ‘X’ occupy all the octahedral voids. What is the molecular
formula of the compound ?
2f dorgdn, Swrostor X (SOAErSo) $0dn Y (e3drSoos® 283808,
Y TwE) odrSo d)WE HoXErdy (cep) HE)EWEM, X TWo) edsrSow
U 3S So(grod)odd ¢EDoHHT 0w, HErYSn W) vmoFdna 8?7
(n XY (2) XY, (3) XY (41 X,Y,;

~ 153. Which one of the following statements is correct ?
(1) Cyclohexadiene is an aromatic compound
(2) Deactivating groups are ortho and para directing groups

(3), Reaction of benzene with 1-chloropropane and anhydrous AICI, gives n-propylbenzene
(4) Electrophilic substitution of benzene takes place via o-complex
Bod JEdmos® 28 HOTHHE?

(1) 258 B6S o8 udrss ‘r’aﬁal#:&u
(2) ABHEzE SIwrSFten ug‘ 00050 Foc IS ITHE Jdwrdten

(3) BoflSXo 1-§£°6"1@* 0] HobddSw Ao AlCLeS Sdg 202XV pd - F DS
BoEad amwod

(4) BodSS* J:}E‘jﬁpﬂ'ﬁ CLERDE S8 ﬁ—i}ﬂéi&ﬂ argor adahdod

154. Which one of the following statements is not correct ?
(1) Electrolysis of sodium acetate gives methane.
(2) Alkanes undergo halogenation by free radical mechanism.
(3) Ethane exhibits conformational isomerism.
(4) Sodium acetate on heating with soda lime gives methane.
808 DiBmos”® B HOTHIE 5287
(1) 3800 0B ISogdgFand® NFISH adod
(2) Hﬁa,ﬁti:- ";»:-31:1‘;, ([>8D0¢ Sorg dgrdo orgo TStungdno Vodietow
(3) &BS vddrd Ir&)dgod (HE8NR0O
(4) Fdoho I2WEL FerDSes I8 TH PNBIH adyod

Rough Work
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155. The IUPAC mIFI of the following compound is

(1) 5-oxo-2-methyl-hexan-3-ol
(2) 4-hydroxy-5-methyl-hexan-2-one
(3) 2-ox0-5-methyl-hexan-4-ol
(4)s 3-hydroxy-2-methyl-hexan-5-one

8ob ‘bﬁaaﬁéﬂ @ng) IUPAC ardvo
H

(1) 5-w8y-2-0JS-E)S8-3-45
(2) 4-:::-"1_:?5;_}—5—ﬂ:@ﬁ-“ﬂ‘*faﬁ-}t.ﬁ
(3) 2-08)-5-0BS-rT)8-4-45
(4) 3-3(@8y-2-DoBS-" B35 -5-43

156. What are the heights (km) from the sea level for Troposphere and Stratosphere ?

(1) 10—20 and 1—10 (2) 5 and 10—50

(3) 10 and 10—50 (4) 10—30 and 5—10

HE0E Hho H0d |S'FEEno B0 FIT*SImre IS (km) Jod?
(1) 10—20 H005n 1—10 (2) 5 $2005x 10—50

(3) 10 $5808» 10—50 (4) 10—30 S08 052 5—I10

157. What is the catalyst used in the following reaction ?
2CH,CI + Si —grrpe—» (CH,), SiCl,

STOK
(1) Nickel powder (2) Copper powder
(3) Zinc powder (4) Platinum powder
Bod asgwdD ﬁﬁé:ﬁ‘ adTWrAoS: ady9d¥o 2B?
- Jjﬁ!ﬂ_ :
ECHJCI + Si SNE {CH_,‘}E Slﬂlz
() S 24 (2) sv56 &
(3) 205 23 4) 28d50 Fé
Rough Work
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158. What is the nature of aqueous borax solution ?

(1) Neutral (2) Acidic (3) Alkaline [41 Amphoteric
$0Ey zomrdno (D)8 JNE?
() 83 (2) w5 3) 506 (4) Bgugyed

159. Which lithium halide is soluble in pyridine ?
DOASS 6 D@dloo FBE 287
(1) LiBr (2) LiF (3) LiCl (4) Lil

160. Hydrogen resembles alkali metals in many aspects but differs in
(1) Halide formation (2) Metallic characters
(3) Oxide formation (4) Sulphide formation
DE'es Tor H8H ST DLl L3086H%08 =) IS 2Fody
Srbdos?
(1) H#BGod 8 ESLO
(2) ﬁ“&:“#ﬁ‘lu;ﬁa DA dodbo
(3) u3bod A88Ibo
;5] :@Qﬁﬂm DEyEEbo

Rough Work
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